LigEs

oA W TR R A A AR Bt (20204F)

BT R =T AY 74 > =AY /1N
FE | ke FHEL 47 ks EA Il Kl B
1 | 01030010 |#Eérikss S#—12# kg 4,87 5. 50
2 | 01030040 |#EsEkss 134-17# kg 5. 04 5.70
3 | 01030070 |%E%Erikss St kg 4. 69 5. 30
4 | 01030080 |#¥triekss 104 kg 4. 87 5. 50
5 | 01030090 |%%%rikss 12# kg 4. 96 5. 60
6 | 01030100 |#E4Eikss 14# kg 5. 04 5.70
7 | 01030110 |%%%eikss 16# kg 5.13 5. 80
8 | 01030120 |#Ekeikes 184 kg 5.22 5.90
9 | 01030130 |#%%rikés 204 kg 5. 40 6. 10
10 | 01030140 |#E4Eikss 224 kg 5. 49 6. 20
11 | 01030150 |#EfEikss $0.5-0. 1 kg 5. 40 6. 10
12 | 01030160 |9%%rigkss $0.9-0.7 kg 5. 40 6. 10
13 | 01030170 |#E4Eikes $1.2-0.7 kg 5. 40 6. 10
14 | 01030180 |#¥%rigkss $1.6-1.2 kg 5.18 5. 85
15 | 01030190 |#EfEikss $2.2-1.2 kg 5.13 5. 80
16 | 01030200 |9%%rikss $2.5-1. 4 kg 5. 09 5.75
17 | 01030210 |#EsEikss $2.5-1.5 kg 5. 09 5.75
18 | 01030220 |9¥%rikss $d4.0-2.5 kg 4.91 5. 55
19 | 01030230 |#Efrikss $4.0-2.8 kg 4.91 5. 55
20 | 01030240 |pEérikss $3.5 kg 4. 87 5. 50
21 | 01030250 |9%%eikes $ 4.0 kg 4. 69 5. 30
22 | 01030260 |#Eerikss $1.0 m 0.03 0. 03
23 | 01030270 |#Eerikss d1.6 m 0. 08 0. 09
24 | 01030280 |44k m 0.07 0. 08
25 | 01030290 |H4kss 8H#-124 kg 5. 40 6. 10
26 | 01030300 |k $4.0-2.8 kg 3. 89 4. 40
27 | 01030310 [4H#2 e kg 5. 66 6. 40
28 | 01030320 |2 $0.1-0.5 kg 5. 66 6. 40
29 | 01030330 |2 $0.1-1.5 kg 5. 66 6. 40
30 | 01030340 |2 $0.7 kg 5. 66 6. 40
31 | 01030370 |2 $4.0 kg 5. 66 6. 40
32 | 01030390 |H¥EEARARENZL $3 kg 10. 18 11. 50
33 | 01030400 |m7miNz2 $5 8805 9950
34 | 01030420 [AIR{KHRENZL $ 4 8805 9950
35 | 01050001 |4% 424 kg 9.29 10. 50
36 | 01050010 |4W&248 $4-6 kg 9.12 10. 30
37 | 01050020 [4M224% $12.1-13 kg 9. 29 10. 50
38 | 01050030 44248 $14. 1-15 kg 9.29 10. 50
39 | 01050040 |4%42 % $16-18.5 kg 9.12 10. 30
40 | 01050050 [HN2248 $19-21.5 kg 9.29 10. 50
41 | 01050060 [HX224% $ 4.2 kg 10. 88 12. 30
42 | 01050070 |§R#248 4.5 kg 10.88 12.30
43 | 01050090 [4X%24% b6 m 8. 45 9.55
44 | 01050110 |24 $8 m 8. 45 9.55
45 | 01050120 |4H224% $ 8.4 m 9.22 10. 42
46 | 01050130 [@N#248 $9 m 10. 62 12. 00
47 | 01050150 [4N4248 $ 15 m 9.76 11.03




48 | 01050160 |4M2248 $15.5 m 10. 24 11. 57
49 | 01050190 |4M224% $18.5 m 10. 62 12. 00
50 | 01050210 |4H224 $ 20 m 15. 04 17.00
51 | 01050220 |4N#248 $21.5 m 20. 35 23. 00
52 | 01050230 |4H2248 $ 22 m 23.01 26. 00
53 | 01050260 |4M224% $ 26 m 30. 09 34. 00
54 | 01070020 |4M&:4k $ 15. 24 t 5044 5700
55 | 01070110 |4WZ:4kEst 1240 FFEI . BiER] & | 146.02 165. 00
56 | 01070120 |4NZZkEEE 1970 QFER . BiHER, £ | 247.79 280. 00
57 | 01070130 |4WZ: 4k Est 224l ¥ H#iERL £ [ 309.73 350. 00
58 | 01070140 |HNZLREEH SLFL BFEF A B B 513 580
59 | 01070150 |58 J14ME= t 12832 14500
60 | 01090020 |4 E4K kg 4. 60 5. 20
61 | 01090040 |%E%: 4N $10-14 kg 4. 60 5. 20
62 | 01090050 |%5%e:[RI4N $ 10-25 kg 4. 60 5. 20
63 | 01090060 |45 54N $ 10 kg 4. 60 5. 20
64 | 01090090 |%%%% [74H $ 16X 1000 kg 4. 60 5. 20
65 | 01090110 |[FI4N ey kg 3. 72 4. 20
66 | 01090120 |[F4N $5.5-9 kg 3.72 4. 20
67 | 01090130 |[FI4N $8-14 kg 3. 72 4. 20
68 | 01090140 |[F4N $ 10-14 kg 3.72 4. 20
69 | 01090150 |[FI4N $ 15-24 kg 3. 72 4. 20
70 | 01090160 |4 $ 25-32 kg 3.72 4. 20
71 | 01090250 |[FI4N $6 kg 3. 72 4. 20
72 | 01090280 |[FI4N $9 m 1. 86 2.10
73 | 01090290 |[#4N $ 10 t 3717 4200
74 | 01090300 |[F4N $12 t 3717 4200
75 | 01090320 |[7I4N $ 14 t 3717 4200
76 | 01090330 |[F4N d 16 kg 3.72 4. 20
77 | 01090340 |[F4N $ 25 kg 3. 72 4. 20
78 | 01130010 |fw4N EE kg 3.81 4. 30
79 | 01130050 |m4N 50 LA PN kg 3.81 4. 30
80 | 01130060 |m4N 59LL N kg 3.81 4. 30
81 | 01130070 |m4N 60LL N kg 3.81 4. 30
82 | 01130080 |m4N 60 LAAE kg 3.81 4. 30
83 | 01130090 |m4N 25X 4 kg 3.81 4. 30
84 | 01130100 |fm4N 30X 3 kg 3.81 4. 30
85 | 01130130 |m4N 40X 6 kg 3.81 4. 30
86 | 01130140 |fm4N 45X 4 kg 3.81 4. 30
87 | 01130150 |m4N 50X 5 kg 3.81 4. 30
88 | 01130160 |fm4N 100X 10 kg 3.81 4. 30
89 | 01130170 |ANEE4M N =y kg 13. 54 15. 30
90 | 01130180 | A4 )m4N 59U N kg 13. 54 15. 30
91 | 01130190 |%%%¢m4N =y kg 4.16 4. 70
92 | 01130220 |4E%EE 25X 4 kg 4. 16 4. 70
93 | 01130230 |#E%¥ 4N 40X 4 kg 4.16 4.70
94 | 01150001 |/ ZEE kg 7.52 8. 50
95 | 01170010 |%%%: TN =y kg 4,25 4. 80
96 | 01170100 | T.74 16 kg 3. 72 4. 20
97 | 01170110 | .74 18 L4k kg 3. 72 4. 20
98 | 01190010 |F&4N ey kg 3.81 4. 30
99 | 01190040 |F#4N 54-16# kg 3.81 4. 30
100 | 01190050 |F#4 104-16% t 3805 4300
101 | 01190060 |F#%4H 14#-20% kg 3.81 4. 30




102 | 01190090 |F#4H 8t kg 3.81 4. 30
103 | 01190100 |F#4 124 kg 3.81 4. 30
104 | 01190110 |##4X 164 kg 3.81 4. 30
105 | 01190130 |F#4 30X 13X 3 kg 3.81 4. 30
106 | 01190150 |9¥%vfti4N HH-114# kg 4. 60 5. 20
107 | 01210001 |ff4W e t 3894 4400
108 | 01210050 |ff4N 40-50 kg 3. 89 4. 40
109 | 01210080 |4 50X 5L kg 3. 89 4. 40
110 | 01210090 |ff4W 50 X 5L 4k kg 3. 89 4. 40
111 ] 01210110 |ff4W 63LL N kg 3. 89 4. 40
112 ] 01210120 |fA4W 63 LAAb kg 3. 89 4. 40
113 | 01210130 |ff4W 50 t 3894 4400
114 | 01210150 |ff4N 60 kg 3. 89 4. 40
115 | 01210160 |ff4W 63 t 3894 4400
116 | 01210180 |ff4N 25X 3 kg 3. 89 4. 40
117 | 01210190 |ff4W 30X 4 kg 3. 89 4. 40
118 | 01210210 |ff4N 40X 4 m 9.78 11. 05
119 | 01210220 |ff4W 40X 5 kg 3. 89 4. 40
120 | 01210230 |ff4W 50X 3 kg 3. 89 4. 40
121 ] 01210240 |ff4W 50X 5 t 3894 4400
122 | 01210280 |34 /4N gie t 3894 4400
123 | 01210320 |85 4N ZEE kg 4. 96 5. 60
124 | 01210390 |4 4H4N0 36X 3X 135 kg 3. 98 4. 50
125 | 01230001 |HZH4 t 3938 4450
126 | 01230010 |#AHLHZ4N t 5398 6100
127 | 01270020 |8%4EER14N t 4602 5200
128 | 01290040 |+ JE4MHR ZEE kg 3.79 4. 28
129 | 01290050 |+ JE4MHR 8 1544 kg 3.79 4. 28
130 | 01290060 |+ JE4MHR 8 15LA4k kg 3.79 4. 28
131 ] 01290160 |4HHR 8§ 4-10 kg 3. 89 4. 40
132 | 01290170 [4N# § 4-16 kg 3. 89 4. 40
133 ] 01290180 |4H#R 8 4.5-7 kg 3. 89 4. 40
134 | 01290190 |44 § 4.5-8 kg 3. 89 4. 40
135 | 01290200 |4HHR 8 4.5-10 kg 3. 89 4. 40
136 | 01290210 |44 §6-12 kg 3. 89 4. 40
137 | 01290220 |4HHR § 8-20 kg 3. 89 4. 40
138 | 01290230 |44 §10-12 kg 3. 89 4. 40
139 | 01290250 |4HHR 8 20LL4h kg 3. 89 4. 40
140 | 01290330 [4N# 100X 10 kg 3. 89 4. 40
141 | 01290570 |40 0#-3# 61.6-1.9 kg 3.79 4. 28
142 | 01290590 |3E4MHR 0#-3% 630 kg 3.79 4. 28
143 | 01290650 |33 £MH § 8-15 kg 3.79 4. 28
144 | 01290670 |imANER §10-15 kg 3.79 4. 28
145 | 01290830 [AHEENH CEE kg 9.03 10. 20
146 | 01290860 | A4 8 0.05-0. 5 kg 9.03 10. 20
147 | 01290880 |AN4A4MEMHR §1.0-81.5 kg 9.03 10. 20
148 | 01290910 | AN LCRISNIOTI & 8LL4k kg 9.03 10. 20
149 | 01291110 |48 4N =i kg 4. 69 5. 30
150 | 01291120 |4 4E 4N 8 0. 5-0. 65 kg 4. 69 5. 30
151 | 01291130 |%%4E 4N §0.7-0.9 kg 4. 69 5. 30
152 | 01291140 |%5E: 4N §1-1.5 kg 4. 69 5. 30
153 | 01291150 |B%%% 4R §1-1.5 m2 46. 02 52. 00
154 | 01291160 |8%%E AN §2-2.5 kg 4. 69 5. 30
155 | 01291170 |B%¥%% 4R §0.45 m2 16. 57 18. 72




156 | 01291190 |9%%%E4MER §0.5 m2 18. 41 20. 80
157 | 01291200 |58 AN §0.55 m2 20. 25 22. 88
158 | 01291220 |8%%% 4N §0.75 m2 27.61 31. 20
159 | 01291230 |48 AN §0.9 m2 33.13 37. 44
160 | 01291470 |%E4eEkz 0. 45 m2 18. 58 21.00
161 | 01291540 |H#HL AR § 0. 5-0. 65 kg 3.79 4. 28
162 | 01291550 || 4N §0.5-1.0 kg 3.79 4. 28
163 | 01291560 |H#HL AR §0.7-0.9 kg 3.79 4. 28
164 | 01291580 || 4N §1.0-1.5 kg 3.79 4. 28
165 | 01291590 |H#H AN §1.6-1.9 kg 3.79 4. 28
166 | 01291600 |#HL 7 4MH §2.0-2.5 kg 3.79 4. 28
167 | 01291610 |FHL AR §2.0-3.0 kg 3.79 4. 28
168 | 01291620 |#HL7E4MHR §2.0-6.0 kg 3.79 4. 28
169 | 01291630 |FHL AR §2.6-3.2 kg 3.79 4. 28
170 | 01291640 |#HL7E4MHR §3.5-4.0 kg 3. 89 4. 40
171 | 01291650 |#&] 4R §0.5 m2 14. 87 16. 80
172 | 01291670 |H#HLEANHR §3.0 m2 89. 19 100. 79
173 | 01291680 |FH AR §3.5 kg 3. 89 4. 40
174 | 01291700 |HFHL EAHHR §4.0 kg 3. 89 4. 40
175 | 01291710 |FHL AR 60X 110X 1.5 He 2.83 3. 20
176 | 01291720 |#HLE40HR § 3. 54 kg 3. 89 4. 40
177 | 01291730 |#%LJE4NHR 8 4.5-7 kg 3. 89 4. 40
178 | 01291740 |#HLE4HHR §4.5-10 kg 3. 89 4. 40
179 | 01291750 |#%LJE4NHR §8.0-15 kg 3. 89 4. 40
180 | 01291760 |##L/E4HHR § 8-20 kg 3. 89 4. 40
181 | 01291780 |#%LJE4NHR 8§ 10-20 kg 3. 89 4. 40
182 | 01291790 |##L/E4MHR § 12-20 kg 3. 89 4. 40
183 | 01291810 |#%LJE4NHR § 20-40 kg 3. 89 4. 40
184 | 01291820 |#%LJEANR § 21-30 kg 3. 89 4. 40
185 | 01291830 |#%LJE4NHR 6 31LAAE kg 3. 89 4. 40
186 | 01291840 |#%LJE4NHR § 40-70 kg 3. 89 4. 40
187 | 01291850 |#u%LJE4NHR 52 kg 3.79 4. 28
188 | 01291860 |#u%LJEANHR 5§10 kg 3. 89 4. 40
189 | 01291870 |#HLJE4NR § 20 kg 3. 89 4. 40
190 | 01291880 |#u%LJE4NHR § 25 kg 3. 89 4. 40
191 | 01291890 |#%LJE4NHR 8 30 kg 3. 89 4. 40
192 | 01291900 |#%LJEANHR § 36 kg 3. 89 4. 40
193 | 01291910 |#HLJE4NIR 8 40 kg 3. 89 4. 40
194 | 01292000 |2 ¥4 m2 14. 16 16. 00
195 | 01292010 |52 AN 3607 m2 14. 16 16. 00
196 | 01292020 |52 40 430%Y m2 30. 97 35. 00
197 | 01292030 |52 #4040 8207y m2 34. 51 39. 00
198 | 01292050 |HEE&4MER §2.5 m2 | 206. 19 233. 00
199 | 01292060 |z ki 2k 55000 N m 22. 30 25. 20
200 | 01292070 |z UihZ: H500 LLAb m 31. 86 36. 00
201 | 01292080 |[5& i 4MHk kg 9. 56 10. 80
202 | 01310001 |47 kg 3. 19 3. 60
203 | 01310020 [AS4B4NAS §15X 1 kg 13. 27 15. 00
204 | 01310030 [4E4E4Nas §15X 1 kg 3.87 4.37
205 | 01350001 |£84FAK CEE kg 54. 87 62. 00
206 | 01350010 |4 8 0.08-0. 2 kg 42. 48 48. 00
207 | 01350020 |4tk §0.25-0.5 kg 42. 48 48. 00
208 | 01350030 [4HR §2 kg 54. 87 62. 00
209 | 01350040 |£84F R o=y kg 64. 60 73. 00




210 | 01350050 [484F Kz §0.05-0. 3 kg 64. 60 73. 00
211 | 01350080 |[#&4fkx 8 0.08-0. 3 kg 40. 71 46. 00
212 | 01350100 |4JEAK 5% 40 m 44. 25 50. 00
213 | 01350110 |4RAR §1.5 m2 44, 25 50. 00
214 | 01350120 |3 1HEI4AR 851 kg 30. 97 35. 00
215 | 01370001 |44 kg 40. 71 46. 00
216 | 01390001 |B&4kE $ 7-80 kg 40. 71 46. 00
217 | 01390010 |4k $ 16-80 kg 40. 71 46. 00
218 | 01410010 |44~ 1.6-5 kg 24. 78 28. 00
219 | 01410020 |4# 164 kg 44. 25 50. 00
220 | 01410040 |44k =) kg 40. 71 46. 00
221 | 01410050 [44H4k 2 kg 40. 71 46. 00
222 | 01430010 [#5#% Zie kg 13. 27 15. 00
223 | 01430050 [ZE4R 1.0 m2 52. 21 59. 00
224 | 01430110 [&fuqy 1X10 kg 14. 16 16. 00
225 | 01430130 |%5E4 MR A6063T5 i 26. 55 30. 00
226 | 01470010 [EE484% $2 m 0.38 0.43
227 | 01470020 [EE484k $ 3.2 m 0.38 0.43
228 | 01490001 |48 m 6.73 7. 60
229 | 01490010 |ff%5 25.4X 1 m 6.73 7. 60
230 | 01490020 |[f#45 50 m 8. 50 9. 60
231 | 01490030 |HAkfH4ES 25. 4 X2 m 4. 87 5. 50
232 | 01510001 [45E %2 kg 26. 99 30. 50
233 | 01510080 |45& &AM T HEEAE = 4.51 5.10
234 | 01530010 |34 5 E565% 35% kg 48. 67 55. 00
235 | 01530030 |k 2.6-3 kg 13.19 14. 90
236 | 01530040 |#5HR 3 kg 13.19 14. 90
237 | 01530050 |4HHR 80X 150X 3 R 1.58 1.79
238 | 01530060 |#5HR 80X 300X 3 kg 13. 19 14. 90
239 | 01530090 [#42 kg 6. 28 7. 10
240 | 01530100 4522/ m2 8.32 9. 40
241 | 01610001 |[f&EH: /N 30. 97 35. 00
242 | 01610010 |&JEdH1E = 6.73 7.60
243 | 01610040 [BV4W%E T A 2.12 2. 40
244 | 01610070 |45 Zie kg 76. 99 87. 00
245 | 01610080 |4 kg 9.29 10. 50
246 | 01610100 |f9¥% kg 33. 19 37. 50
247 | 01610110 [HhiE9¥E g 602 680
248 | 01610120 |Ek4stE kg 602 680
249 | 01610140 [ANBNRIE 4mm A 3. 59 4. 06
250 | 01610150 [AS4B4NaE IR A 7.79 8. 80
251 | 01610160 |AFHMNTAIH:AL kg 23. 45 26. 50
252 | 01610170 [ANEEEH M THEHAT E 3.98 4. 50
253 | 01610180 |7m He K B 28 ZEmiE A 55. 75 63. 00
254 | 01610200 [T kg 5. 66 6. 40
255 | 01610210 [HHL kg 6. 81 7.70
256 | 01610230 [ 7590mm A 29. 20 33. 00
257 | 01610280 [T i A 15. 49 17. 50
258 | 01610290 [i~FFiH A 29. 20 33. 00
259 | 01610320 [R}SZ#Fid4t: kg 16. 19 18. 30
260 | 01610330 [HitRk 7 3 4A R FiHi4F kg 6. 73 7.60
261 | 01610370 [UJEF kg 4. 60 5. 20
262 | 01630001 |3 E4N kg 5.75 6. 50
263 | 01630010 |4t kg 13. 89 15. 70




264 | 01630060 |3 E F4W kg 4,07 4. 60
265 | 02010020 |5 T K 8§ 3-4 kg 3.15 3. 56
266 | 02010030 | #BAZIAR m2 11.81 13. 35
267 | 02010040 [f#Z AR m2 11.83 13. 37
268 | 02010050 |fEochiitg i 8 20 m2 46. 38 52. 41
269 | 02010060 |{1¢LURERE IR § 25 m2 54.99 62. 14
270 | 02010070 | FRAZJKAR 82 kg 3.13 3. 54
271 | 02010080 Mt EE % AR §3 kg 5. 03 5. 68
272 | 02010090 |ty A AR kg 5.27 5. 96
273 | 02010100 [T JHAG JRAR § 3-6 kg 5. 19 5. 86
274 | 02010120 |¥id B 47 AR A R AR i kg 20. 53 23. 20
275 | 02010130 |ifis i A7 W AZ RS AR Ik kg 19. 58 22.13
276 | 02010140 |}y A AR RAR §0.8 kg 20. 54 23. 21
277 | 02010150 |7 i A K AG KR 51 kg 20. 39 23. 04
278 | 02010160 |ifif A K AR RAR 82 kg 19. 76 22.33
279 | 02010170 [#HR ey kg 3.74 4.23
280 | 02010180 |#/ik §1-3 kg 3. 67 4.15
281 | 02010200 [#Hx 8§ 4-15 kg 3. 69 4.17
282 | 02010210 |k 8 5-10 kg 3. 77 4. 26
283 | 02010220 [#ti 52 m2 8. 54 9. 65
284 | 02010230 |k 53 kg 3.73 4. 22
285 | 02010250 [#Hi 5 4 kg 3.71 4. 19
286 | 02010280 [#ik 55 m2 21. 96 24. 82
287 | 02010290 [#Hi 512 kg 3. 74 4.23
288 | 02010320 |HREALIZIEAR m2 91. 46 103. 35
289 | 02010330 [FimitbigiRR m2 | 113.44 128. 19
290 | 02010340 [HLAHR SIS IR IR Hh 19. 39 21.91
291 | 02010350 | fHi m2 32. 05 36. 22
292 | 02010360 |iZ¥EHK kg 17.87 20. 19
293 | 02030001 |[# %+ % m 1.29 1. 46
294 | 02030020 ¥k E % m 1. 37 1. 55
295 | 02030040 [#rd% 957 m 8.15 9.21
296 | 02030060 [#%% m 16. 98 19. 19
297 | 02030080 |#5p%% $ 20 A 1. 44 1. 63
298 | 02030100 |70 %k b m 6. 58 7.44
299 | 02030110 |ZEAHH /N 2. 54 2. 87
300 | 02050001 | DN100 A 1. 29 1. 46
301 | 02050010 |[/k:PE] DN150 N 2.35 2. 65
302 | 02050020 |l DN200 A 3.12 3.53
303 | 02050030 |fk:PE DN300 N 7.34 8. 29
304 | 02050040 |} DN400 A 11. 37 12. 85
305 | 02050050 |k P DN500 N 15. 84 17.90
306 | 02050060 | DN600 A 19. 07 21.55
307 | 02050070 |8 (GKid) DN100 A 2. 64 2.98
308 | 02050080 |k e (7&i4d) DN150 A 4. 04 4. 57
309 | 02050090 |/k:FE (Kid) DN200 A 3.77 4. 26
310 | 02050100 |k P& (&) DN250 A 4. 24 4.79
311 | 02050110 |jkzFE (ki) DN300 A 5. 67 6. 41
312 | 02050120 |iHE Gkid) DN350 A 8. 62 9.74
313 | 02050130 |/k:PEl (GKid) DN400 A 8. 84 9. 99
314 | 02050140 |JkzPE (ki) DN450 A 10. 37 11.72
315 | 02050150 |/k:PEl (GKid) DN500 A 12. 85 14. 52
316 | 02050160 |JkFE (7&4d) DN600 A 15. 31 17. 30
317 | 02050170 |jizPE (k) DN700 A 25. 82 29. 18




318 | 02050180 |#IE ki) DNS0O A 53. 31 60. 24
319 | 02050190 |JkFE (7&idd) DN900 A 56. 40 63. 73
320 | 02050200 |#E GKidE) DN1000 A 83. 96 94. 88
321 | 02050210 |JkPE (ki) DN1200 A 102,91 116. 29
322 | 02050220 |8 GKid) DN1400 A~ 118.19 133. 56
323 | 02050230 |/ (E4d) DN1600 N 144. 03 162. 75
324 | 02050240 |k (WL3E) DN75 A 1.26 1. 42
325 | 02050250 |izFE (BL3E) DN100 A 1.33 1.50
326 | 02050260 |JizPE (Wl42) DN150 A 1. 88 2.12
327 | 02050270 | (Bl3E) DN200 A 2.32 2.62
328 | 02050280 |JizPE (W14%) DN250 A 2.85 3.22
329 | 02050290 |WE (Bl3E) DN300 A 4. 08 4.61
330 | 02050300 |JizPE (W142) DN350 A 7.57 8. 55
331 | 02050310 |jkzPE (HL4%) DN400 A 9. 28 10. 49
332 | 02050320 |k (WliE) DN450 A 9. 87 11. 15
333 | 02050330 |#HE (Hl3E) DN500 > 14. 83 16. 76
334 | 02050340 |fkzFE (M14%) DN600 A 18. 26 20. 63
335 | 02050350 | (Wl3E) DN700 > 30. 89 34.91
336 | 02050360 |k FE (M14%) DN80O A 38. 74 43.78
337 | 02050370 | (Wl3E) DN900 > 43. 42 49. 07
338 | 02050380 |k /& (B14%) DN1000 A 57.55 65. 03
339 [ 02050390 | (WliE) DN1200 > 76. 44 86. 38
340 | 02050400 | FE (B14%) DN1400 | 125.85 142. 21
341 | 02050410 |z (Wl3E) DN1600 A 117,34 132. 59
342 | 02050420 | ke (B14%) DN1800 | 169.04 191. 02
343 | 02050440 [0 i %% 4+ P DN100 A 0.27 0. 30
344 | 02050450 [0%UKE IR 25 4 DN150 A 0.49 0.55
345 | 02050460 |07 i %% ft P DN200 A 0.95 1.07
346 | 02050470 [0%UHE R 25 4 DN300 A 2.58 2.92
347 | 02050480 [0FIH% i %% f+ P DN400 A 3.25 3. 67
348 | 02050490 [0%H% 2% 4 DN500 A 5. 60 6. 33
349 | 02050500 [0FIH% i %% 4+ P DN600 A 10. 77 12. 17
350 | 02050510 |05 i 2 44 DN700 A 14. 10 15. 93
351 | 02050520 [0FIH% i %% 4+ P DNS0O A 17.19 19. 43
352 | 02050530 [0ZUH5E R 25 4 DN900 A 20. 40 23. 05
353 | 02050540 [0 i %% f+t P DN1000 A 17.98 20. 32
354 | 02050550 |0%UH% R 2% 4 DN1200 A 21. 96 24. 82
355 | 02050560 [0FIH% i %% f+ P DN1400 A 26. 04 29. 42
356 | 02050570 |0ZUHE I 2% 4 DN1600 A 29. 65 33. 50
357 | 02050580 [0ZIH% i %% f+ P DN1800 A 37. 47 42.34
358 | 02050590 |05 i 2% 4 DN2000 A 42. 67 48. 22
359 | 02050610 | 7H5 DN600 H 12. 86 14. 53
360 | 02050620 |i57YH% R K DNS0O H 18. 05 20. 40
361 | 02050630 | A5l DN1000 H 21.33 24. 10
362 | 02050640 |i57YH% R DN1200 H 23.33 26. 36
363 | 02050650 | A% e DN1400 H 23.90 27.01
364 | 02050660 |4 K Rl DN1600 H 27.32 30. 87
365 | 02050670 | AE e DN1800 H 35. 81 40. 47
366 | 02050680 |k A4 K kel DN2000 H 31.25 35. 31
367 | 02050690 | A% e DN2200 H 54.76 61.88
368 | 02050700 |%AI4% K pEl DN2400 H 69. 43 78. 46
369 | 02050710 |#AVH% DN2200 H 63. 26 71.48
370 | 02050720 |F2AKE DN2400 H 78.91 89. 17
371 | 02050730 |#AVHE DN2600 H 77. 36 87. 42




372 | 02050740 |#AKE DN2800 H 85. 88 97. 04
373 | 02050750 |F2AKE DN3000 5l 85. 82 96. 98
374 | 02050760 |#AKE DN3200 H 83. 44 94. 29
375 | 02050770 |¥AKE R E DN3400 H o[ 102.82 116. 19
376 | 02050780 |#AKE DN3600 H 97. 88 110. 60
377 | 02050930 [#55FE (457K) DN8O o 3. 11 3.51
378 | 02050940 |15k B8l (EAd 25 7K) DN100 N 3.31 3.74
379 [ 02050950 |15 )i Bl G325 7K) DN150 o 4. 14 4. 68
380 | 02050960 |15k Bl (EAd 25 /K) DN200 N 4. 32 4. 88
381 [ 02050970 |15k Bl UK IdiZs 7K) DN250 o 5.94 6.71
382 | 02050980 |15k FEl (E 425 7K) DN300 N 6.11 6. 90
383 [ 02050990 |15 )i Bl UK IdiZs 7K) DN350 o 6. 93 7.83
384 | 02051000 |15k FEl (EAdi 25 7K) DN400 N 9.13 10. 32
385 | 02051010 |#5 /% Bl GEddiZs 7K) DN450 A 8.41 9. 50
386 | 02051020 |15k FEl (EAd 25 7K) DN500 N 13. 46 15. 21
387 | 02051030 |55 B (BE<) DN100 A 4. 96 5.61
388 | 02051040 |#%Ji:FE (J5R) DN150 A 5. 47 6. 18
389 | 02051050 K%Mz FE (BER) DN200 A 6. 28 7.10
390 | 02051060 |#% )i 8 (ES) DN300 A 8. 06 9.11
391 | 02051070 |#5 AR HE (< ) DN400 A 11.12 12. 56
392 | 02051170 |55 18 (kL DN90 A 1. 06 1.20
393 | 02051180 *%Ei@j@i*ﬂr%) DN110 A 1.15 1.30
394 | 02051190 |45 /5 FE (FERLEY) DN125 A 1.35 1.52
395 [ 02051200 |85k 18 (FERLE) DN160 A 1.64 1.85
396 | 02051210 [#5 /5 FE (FERLE) DN225 A 3. 02 3.41
397 | 02051220 |#% k18 (FERLE) DN250 A 4.71 5. 32
398 | 02051230 |45 /5 FE (FERLEY) DN315 A 9. 63 10. 88
399 | 02051240 |#% k18 (FERLE) DN355 A 10. 60 11.98
400 | 02051250 #5818 (R DN400 A 13. 05 14. 75
401 | 02051260 [#%HcHE (ERE) DN500 A 26. 67 30. 14
402 | 02051270 #5818 OKIEE) DN300 A 1.81 2.05
403 | 02051280 [#%HxHE OKIBE) DN400 A 2.97 3. 36
404 | 02051290 |#5 k18 OKIEE) DN500 A 3. 50 3. 96
405 | 02051300 [#%HHE OKIBE) DN600 A 5. 08 5. 74
406 | 02051310 #5818 OKIEE) DN700 A 5.99 6. 77
407 | 02051320 [#%EHE OKIBE) DNS0O A 7.44 8. 41
408 | 02051330 |#5 k18 OKIEE) DN900 A 8. 52 9.63
409 | 02051340 [#%ixHE OKIBE) DN1000 A 10. 28 11. 62
410 | 02051350 #5818 OKIEE) DN1200 A 17.61 19. 90
411 | 02051360 [#%ExHE OKIBE) DN1400 A 21. 08 23. 82
412 | 02051370 |#5 k18 OKIEE) DN1600 A 30. 65 34. 63
413 | 02051380 [#%iHE OKIBE) DN1800 A 36. 92 41.72
414 | 02051390 [#5HcHE GRELED DN200 A 1. 90 2.15
415 | 02051400 |#5/5 08 GREE ) DN300 A 2.57 2. 90
416 | 02051410 [#2JiREE (/tmiiﬁ) DN400 /N 3.78 4,27
417 | 02051420 |#% 58l (G &+ 5) DN500 N 4,57 5.16
418 | 02051430 [#51El (/miiﬁ) DN600 A 7.58 8.57
419 | 02051450 |#% 5 FEl (GR&E+5) DN800 N 9. 38 10. 60
420 | 02051470 |#3Jk B (GREE 1 55) DN1000 A 13. 37 15. 11
421 | 02051480 |#% 5 FEl (VR &E+5) DN1200 N 27. 44 31.01
422 | 02051490 [#Hx1E R iﬁ@) DN1350 A 32. 42 36. 63
423 | 02051510 [#icHE (GRS DN1500 A 33. 39 37.73
424 | 02051530 [#5H%1E (R i% DN1650 A 35. 44 40. 05
425 | 02051540 [#%icHE GREEL) DN1800 A 49. 10 55. 48




426 | 02051550 |15k GREE ) DN2000 N 60. 88 68. 79
427 | 02051560 [t R GREE L&D DN2200 A 59. 41 67. 13
428 | 02051570 |15k 18 R EE ) DN2400 N 74. 50 84. 18
429 | 02051580 |15k 8l (TR EE ) DN2600 A 88. 20 99. 67
430 | 02051590 |15k (R #EE 1) DN2800 N 83. 02 93. 81
431 | 02051600 |15k GREE %5 DN3000 A~ | 107,22 121. 16
432 | 02051610 #5553 B (HEK) DN50 A 3.48 3.93
433 | 02051620 |#5 /5% 5t B (HEK) DN75 A 3. 66 4. 14
434 | 02051630 |15 5% &t B (HEZK) DN110 A 5.07 5.73
435 | 02051640 #5244 (HEZK) DN160 A 5.31 6. 00
436 | 02051650 |15 5% %t Bl (HEK) DN200 A 4. 96 5.61
437 | 02051660 |15 k% 3} B (HEZK) DN250 A 6. 30 7.12
438 | 02051670 |#5 /0%t (HEK) DN400 A 7. 40 8. 36
439 | 02051680 |15k % %} Bl (HEZK) DN500 A 8.79 9.93
440 | 02051690 |5 ke %% %} Bl (HEZK) DN600 A 11.79 13. 32
441 | 02051700 |45k % %) Bl (HEZK) DNS0O A 14. 19 16. 04
442 | 02051720 |#3Jkeas 4} Pl DN50 A 1.79 2.02
443 | 02051730 ¥k 4} Pl DN8O A 3.21 3. 63
444 | 02051740 |¥5 k5% 3} P DN100 A 6. 03 6. 81
445 | 02051750 [0 4t DN125 A 6. 47 7.31
446 | 02051760 |#5Jka% 3} pE DN150 A 6. 36 7.19
447 | 02051780 [5x4} FEl DN200 A 8. 26 9.33
448 | 02051790 |#5Jkeas 3} Pl DN250 A 8. 02 9. 06
449 | 02051800 |5 k5% 4} Pl DN300 A 9. 26 10. 46
450 | 02051810 |#5Jke2s 4} pEl DN350 A 10. 00 11. 30
451 | 02051820 |#5Jke5% 4} Pl DN400 A 9.31 10. 52
452 | 02051830 |#5Jkeas 4} P DN450 A 11.36 12. 84
453 | 02051840 |#5 )k 5% 4} Pl DN500 A 12. 60 14. 24
454 | 02051850 [#5f 24} DN600 A 13. 63 15. 40
455 | 02051860 |5 k44t ] DNS00 A 13.11 14. 81
456 | 02051870 |#5Jkeas 4} Pl DN1000 A 13. 74 15. 53
457 | 02051880 |5 k44t Pl DN1200 A 16. 52 18. 67
458 | 02051890 |#5Jkes 4} Pl DN1400 A 19. 34 21.85
459 | 02051900 ¥ %3t el (Z A HEZK)  |DNGO A 2.87 3. 24
460 | 02051910 #5534 el (N HE/K) [DN75 N 3. 96 4. 48
461 | 02051920 |#5 M4t el (2 A HEZK)  |DN100 N 4. 52 5.11
462 | 02051930 |15 ke 3t el (%= N HEZK)  |DN150 N 4. 81 5. 43
463 | 02051940 (#5244 (N HEZAK)  [DN200 A 7.96 9. 00
464 | 02051950 |15 ke 3t el (%= N HEZK)  |DN250 N 8. 56 9. 67
465 | 02051960 (#5244 el (= N HEZK)  [DN300 A 11.01 12. 44
466 | 02051980 [B7KH% /K A 6. 53 7.38
467 | 02051990 |#3Jk 2P DN6-32 A 0.17 0. 19
468 | 02052000 | CEED HEELRYEEEM ¢ 110-167 A 7.36 8. 32
469 | 02052020 | KL HAGiIRYEEBRN ¢ 219 A 24. 86 28.09
470 | 02070220 |#5Jks i kg 8.01 9. 05
471 | 02070230 |#Jkedk §0.8 m2 1.13 1.28
472 | 02070240 ¥k 52 m2 3.27 3. 69
473 | 02070280 |#fkeiid §5 m2 7.90 8.93
474 | 02070290 |#Jke g §10 m2 13.73 15. 51
475 | 02070300 [=7T 2 kG i $ 20 m 8.29 9.37
476 | 02070310 | =70 Z IR H# 40mm X 10mm m 7.82 8. 84
477 | 02070320 | T#R A 52 m2 10. 21 11. 54
478 | 02070340 |HbEER TR m2 7.21 8.15
479 | 02070380 |4 T JiEHE I # DN25 )i 1. 47 1.66




480 | 02070390 |4 T JiEAZ iR 4 DN40 K 3.15 3. 56
481 | 02070400 |% T FEHE R & DN50 Fr 3.32 3.75
482 | 02070410 |5 T HEAG B DN65 Fr 4. 32 4. 88
483 | 02070420 |58 T JIEHE I ik DN8O K 5. 04 5.70
484 | 02070430 |5 T HEAG B DN100 Fr 4. 96 5.61
485 | 02070440 | T FEREIR DN150 K 6. 30 7.12
486 | 02070450 | T HEAG B DN200 Fr 6. 33 7.15
487 | 02070460 | | FEREIR DN250 K 7.19 8. 12
488 | 02070470 |5 T HEAG B DN300 Fr 6. 62 7.48
489 | 02070480 |# | FEREIR DN400 Fr 7.89 8. 92
490 | 02070490 |5 T I5HEIRE S K 16. 44 18. 58
491 | 02070500 [#i#E $ 36 m 42.27 47.76
492 | 02070510 |¥3Jkc%E kg 11.42 12.90
493 | 02070520 [#EEssE $ 60 m 7.22 8.16
494 | 02070530 [#EHPHS AR DN100 N 8. 22 9.29
495 | 02070540 [ HPHALS DN150 A 13. 46 15. 21
496 | 02070550 |[#BPHSAS DN200 N 12. 36 13.97
497 | 02070560 [#IRBHALS DN300 A 21.49 24. 28
498 | 02070570 [#EBPHSAS DN400 o 26. 27 29. 69
499 | 02070580 |#JBHAAS DN500 A 31. 89 36. 04
500 | 02070590 [#5BPH <S4S DN600 N 29. 56 33. 40
501 | 02070600 |¥/ ke $ 35 kg 14. 27 16. 12
502 | 02070610 [#50H 53 kg 7.59 8. 58
503 | 02070630 |55 i fk m 50. 17 56. 69
504 | 02070640 |FLEAMR A m2 35. 82 40. 48
505 | 02070650 |¥REEHA A 62. 29 70. 39
506 [ 02090001 |PU% 2 K X8R K kg 5.96 6. 74
507 | 02090010 |35 205 i kg 6. 29 7. 11
508 | 02090020 |ZE5H 2 M m2 0. 37 0. 42
509 | 02090030 |%E ZJd i §0.05 m2 3. 62 4. 09
510 | 02090040 |¥Ek} K kg 6. 86 7.75
511 | 02090050 |84} i m2 0.41 0. 46
512 | 02090060 |F#f0jE m2 0.61 0. 69
513 | 02090070 |3 % L)h+ T §1.5 m2 15. 50 17. 52
514 | 02090080 | %5 5 0% - T §2.0 m2 22. 58 25. 52
515 | 02090100 |¥EKR}AG kg 7.58 8. 57
516 | 02090110 |¥k}AH m2 0.95 1.07
517 | 02110001 |FEEES IR A kg 10. 72 12. 11
518 | 02110010 [MEE ZI1EMR 2-30 kg 10. 39 11.74
519 | 02110020 |fHEES IR 3-8 m2 22. 89 25. 87
520 | 02110030 [WEE ZI1EMR 6 m2 31. 15 35. 20
521 | 02110040 |fHEE IR 8 m2 42. 50 48. 02
522 | 02110050 | 2 MR 12 m2 83. 16 93.97
523 | 02110060 |5 IR 14 m2 92. 33 104. 33
524 | 02110070 | ER LIGIR 2-8 kg 16. 52 18. 67
525 | 02110080 |#ZE R LIHMR 2-8 m2 20. 06 22. 67
526 | 02110090 | TR ZLIGEIR 4 m2 31. 96 36. 11
527 | 02110110 |[FE LI CEE kg 9. 41 10. 63
528 | 02110120 RS MR §8 m2 47. 38 53. 54
529 | 02110130 [FEIBEIR m2 43. 82 49, 52
530 | 02110140 |#IEHR m2 55. 96 63. 24
531 | 02110220 |%EMK m2 43. 98 49. 70
532 | 02110250 |¥BTHIARK m2 45. 04 50. 89
533 | 02110280 |Z VUG LKtk kg 7.42 8. 38




534 | 02110290 |Z Y% 2 )% TIE AR kg 6. 60 7. 46
535 | 02110300 [PVCEIK LMK m2 21.56 24. 36
536 | 02110310 |[PVCEMJER He 5. 35 6. 04
537 | 02130001 [PUgE kg 56. 36 63. 69
538 | 02130010 |2 VUG £ )17 kg 60. 08 67. 89
539 [ 02130030 |3 VY% L0 2k % 1.82 2.06
540 | 02130040 |ZDUGE L0k m 0. 09 0. 10
541 [ 02130050 |3 DY % £ 0 Ak 520 m 0.11 0.12
542 | 02130060 |5 DU 20K 1 26mm X 20m X 0. 1mm m 0. 14 0.16
543 | 02130070 [4klHs kg 58. 93 66. 59
544 | 02130080 |5 DU 206 5% ) 1 m 0. 22 0. 25
545 | 02130110 |=fa¥Ekl ZEE kg 5. 39 6. 09
546 | 02130120 =3k} 20mm X 40m m 0. 28 0.32
547 | 02130130 [¥EklH5 20X 40000 kg 15.13 17. 10
548 | 02130140 [¥EklHs 20X 40000 i 4. 58 5. 17
549 | 02130150 [¥ERlE R m 0. 65 0.73
550 | 02130160 | sEElFE4H m 0. 27 0.31
551 | 02130170 |[E& 2 Hgmsets H=200-250 m2 32.03 36. 19
552 | 02130180 |5 L HikH (0 AR NS %5 4. 06 4. 59
553 | 02130190 |31 H04 kg 6. 14 6. 94
554 | 02130200 |¥klmE4% 300 X 80 = 4. 95 5. 59
555 | 02170030 [HH1I%3E 6 m2 52. 57 59. 40
556 | 02170040 | KIS 8 m2 89. 56 101. 20
557 | 02170060 [HHLK A T m2 8. 39 9.48
558 | 02190001 |JE #iiF A 0.13 0.15
559 | 02190010 |[J8 4 ZEE kg 15. 93 18. 00
560 | 02190020 |Jé li4d $0.5-1 kg 15. 74 17. 79
561 | 02190040 |JE 1w m2 11.21 12. 67
562 | 02190050 |JE M 30H m2 10. 65 12. 03
563 | 02190070 |Jé Ex D10 N 0.17 0.19
564 | 02190080 [ 4k A 0.11 0.12
565 | 02190090 |[JE 4wl m 2.58 2.92
566 | 02190100 |ZmZ4s /N 0.27 0.30
567 | 02190130 [¥ERMFEAT = 0. 10 0.11
568 | 02190140 |¥EKM4E%H 560 X 320 X 130 A 46. 21 52. 22
569 | 02190160 [¥kL%E % H m2 43. 52 49. 18
570 | 02190171 [¥3k}ss HER| 7.76 8. 77
571 | 02190180 [¥Ekl& A 1.38 1.56
572 | 02190200 |¥kR &4 m 12. 04 13. 60
573 | 02190210 [¥ERLG5 KA m2 32. 19 36. 38
574 | 02190220 |5 %5 5 2.0 B /K AR § 10 m2 94. 43 106. 71
575 | 02190230 |PVCid MR 2. bmm/%- m2 73. 83 83. 43
576 | 02190240 |PVCE/KAR 2mm /5 m2 55. 06 62. 22
577 | 02190250 [EVAB7KAR m2 55. 52 62. 74
578 | 02190270 |PEH 1% E 4. 47 5. 05
579 | 02190280 |[{kA&IE 20 m3 658 743

580 | 02190310 [ZRVU%H £ )&k 4. 62kg/ B Hr | 159.49 180. 22
581 | 02190320 |[ZEVUGR £ Ktk kg 17. 10 19. 32
582 | 02190330 |[ZE VY& 2.0 A 3. 24 3. 66
583 | 02190340 |HIYHE L )G §3 200 A 3.19 3.61
584 | 02190350 |40 22 L A%-3 e E 1218 A 0. 02 0. 02
585 | 02190360 |45 22 kA% i F4£20 > 0. 02 0. 02
586 | 02190370 |4W 50 22 L A%-3 EL 1522 A 0. 03 0.03
587 | 02190380 |4 1% 22 kA% g 1525 > 0. 04 0. 04




588 | 02190390 |4 1% 22 kA% B 1228 A 0. 04 0. 04
589 | 02190400 |4W 55 22 L A%-3 i H1E32 A 0. 04 0. 05
590 | 02190401 |[4W5% 22 kA% F4%40 A 0.07 0. 08
591 | 02210001 [A gk m2 17. 84 20. 16
592 | 02230010 |4 E¥ = kg 0. 96 1.08
593 | 02230020 [f7 24k kg 6. 77 7.65
594 | 02230050 |mkE $8 i) 1.74 1.97
595 | 02230060 Bk kg 12. 32 13.92
596 | 02230070 |mikite 8-12 i) 2. 50 2.83
597 | 02230080 |Hhckke $ 48 Jiss 6. 72 7.59
598 | 02250001 |3 54N m2 24. 63 27.83
599 | 02250020 |3k F54N Bl 1800 X 720730 7K 20. 41 21. 02
600 | 02250030 |B FE4N I S0 FL m2 18. 72 19. 28
601 | 02250040 |%2%E 5 & 34N m2 6.51 7.36
602 | 02270001 [ kg 25. 11 28. 37
603 | 02270010 |[FH45 m2 4,78 5. 40
604 | 02270020 [ m 7.33 8. 28
605 | 02270030 [ A5 (FA45) 900 7% m 4.33 4. 89
606 | 02270040 |40 E 45 72900 m 4. 06 4. 59
607 | 02270060 |5k An kg 12.75 14. 41
608 | 02270100 [+ T4 m2 3. 60 4.07
609 | 02270110 [+ TA45 300g m2 3. 60 4. 07
610 | 02270120 [EFEH 1-5 m2 14. 38 16. 25
611 | 02270130 [¥F: 6-8 m2 36. 49 41.23
612 | 02270140 [EFEH 12-15 m2 71. 88 81.23
613 | 02270150 |4 4% 300g m2 2.35 2. 66
614 | 02270160 [FHE 50g m2 1.41 1.59
615 | 02270170 [FF4 5 m2 9.35 10. 57
616 | 02270180 |kpAids 300 X 1500 N 4. 48 5. 06
617 | 02270200 [#i4s 1.2X 1100 A 7.14 8. 07
618 | 02270220 |+ TAf%E 2% 1.81 2.05
619 | 02270240 [q[H122 kg 3.76 4. 25
620 | 02270250 [#i4E kg 12. 35 13. 96
621 | 02270260 [#E2b kg 5.29 5.98
622 | 02270270 [#E2b3)k kg 5. 48 6. 19
623 | 02270300 [H7 42 m3 76. 54 86. 49
624 | 02270310 |5 kg 5.85 6.61
625 | 02270330 |24 7K 1.16 1.31
626 | 02270340 [ FFikE A 0. 67 0.76
627 | 02270350 |47 464 m2 9.31 10. 52
628 | 02290001 |k kg 4,38 4. 95
629 | 02290010 |#R%%E $ 12 m 0. 59 0. 67
630 | 02290020 | mE4E $ 26 kg 5.53 6. 25
631 | 02290030 [fi48 kg 8.09 9.14
632 | 02290040 |[EHtz4m kg 8.39 9. 48
633 | 02290070 |#EiS i %600 m 3. 19 3. 61
634 | 02290080 |FRAS H 1.65 1.87
635 | 02290100 |[WE%2 kg 5.01 5. 66
636 | 02290110 [ZkE kg 7.74 8.75
637 | 02290120 |WJk kg 2. 69 3. 04
638 | 02290140 |FELSAn m2 3. 68 4.16
639 | 02310001 |e¥sAn m2 3. 80 4. 29
640 | 02310010 |kFEi4n 0.2 m2 3. 24 3. 66
641 | 02310020 |3k §0.5 m2 3. 44 3. 89




642 | 02310050 |3e¥5224n m2 3. 50 3.96
643 | 02310070 |IFIEL2AT 0.5 m2 3.73 4. 22
644 | 02310080 |BHIELF4EMR m2 22. 41 25. 32
645 | 02310110 |PAAE m2 5. 47 6. 18
646 | 02310120 M4 T yifi m2 2.33 2.63
647 | 02310130 [IHiAh 30g m2 2.76 3.12
648 | 02310140 | LYifi 400g/m’ m2 2. 41 2.72
649 | 02310150 |Lifi m2 2. 58 2.91
650 | 02310170 |E82KH 5 m3 63. 56 71. 82
651 | 02330001 |#HAS m2 2.36 2. 67
652 | 02330010 [%Hi4¥ A 1. 46 1.65
653 | 02330020 |& 7 m2 5.01 5. 66
654 | 02330030 |4 kg 0.42 0.47
655 | 02330040 |f%5% m3 37.88 42. 81
656 | 02330050 [z m2 3.95 4. 46
657 | 02350001 | A\ ik m2 9. 88 11.16
658 | 02350020 |BEA4E} m2 123.91 140. 02
659 | 02350030 |J5 #5455 m 0. 64 0.72
660 | 03010001 |=X[H {4 %A £ 4.07 4. 60
661 | 03010010 [hn[FE &t A 2.35 2. 65
662 | 03010020 |BRIHE IR $ 10 = 7.83 8. 85
663 | 03010030 |3y FE 4k $ 12 = 10. 26 11.59
664 | 03010040 |BRIHE IR d 14 = 15. 93 18. 00
665 | 03010050 |3 ¥4 4ike $ 16 = 21. 24 24. 00
666 | 03010060 |BRIHE I $ 18 = 27. 41 30. 97
667 | 03010070 |3y 4ike $ 20 = 34. 46 38. 94
668 | 03010080 |BRIHE it $ 22 = 41. 50 46. 90
669 | 03010090 |3 ¥4 4ike $ 24 = 51.33 58. 00
670 | 03010150 |'Z4T A 0. 36 0. 41
671 | 03010230 |&k8p4T kg 7.52 8. 50
672 | 03010260 |dEErmnsT M4 kg 7.52 8. 50
673 | 03010280 |AEEWNET kg 30. 97 35. 00
674 | 03010290 |ddhis4T kg 7.52 8. 50
675 | 03010300 |%+4T A 0. 24 0.27
676 | 03010360 |% %] 20X 2 kg 7.35 8. 30
677 | 03010370 |iE4] kg 3.03 3. 42
678 | 03010380 |/ )ti&%] N 3. 54 4. 00
679 | 03010390 [#e4T ERED = 1.77 2.00
680 | 03010420 |/KVe%] 104 A 0. 08 0. 09
681 | 03010430 |$\4] kg 4. 42 4. 99
682 | 03010490 |4kFi4T N 0.02 0.02
683 | 03010530 |%E4T 20 kg 7.35 8. 30
684 | 03010540 |%&Y4%t A8 X 45 A 1.33 1.50
685 | 03010600 |AiEMNUEIE H 3. 98 4. 50
686 | 03010610 [AS4BENUAL& 3 Jal 4. 87 5. 50
687 | 03010620 |m4] A 0.23 0. 26
688 | 03010630 |AiE4T A 0. 06 0.07
689 | 03010640 |AIE4T M2—-4 X 6-65 A 0. 06 0.07
690 | 03010650 [AHZ%T M4. 5-6 X 15-100 /N 0. 25 0. 28
691 | 03010660 |AIE4T M6 X 100LL R A 0. 25 0. 28
692 | 03010670 [AiZ4T M2. 5 X 20 A 0. 04 0. 04
693 | 03010680 |AE4T M2. 5 X 25 A 0. 04 0. 04
694 | 03010690 [AHZ%T M3 X 25 A 0. 04 0.04
695 | 03010720 |AKUE4T M4 X 40 A 0. 08 0. 09




696 | 03010740 |AIE4T M4 X 50 A 0. 09 0.10
697 | 03010750 |[AHZ4T M4 X 65 A 0. 10 0.11
698 | 03010760 |AIE4T M4 X 75 A 0.11 0.12
699 | 03010770 |AHBELT M5 X 35 A 0.14 0.16
700 | 03010790 A4 M6 X 100 A 0. 88 1. 00
701 | 03010810 |4kee Ad24T D2-5X 4-50 A 0. 44 0. 50
702 | 03010830 |4 EEAHBAT D6 X 100 A 0.53 0. 60
703 | 03010860 |#7MEHB4T A 0. 04 0. 04
704 | 03010870 [I7 SLURET = 0.03 0.03
705 | 03010890 | [F SLuZ4T M6-8 X 12-30 = 0.12 0.14
706 | 03010900 [F[7 SLURET M6-12 X 12-50 = 0.12 0.14
707 | 03010910 |2 [5 SLug4T M4 X 6 &= 0.01 0.01
708 | 03010920 [F[7 SLURET M6 X 12 = 0.03 0.03
709 | 03010930 | [F SLug4T M6 X 20 &= 0. 04 0. 04
710 | 03010940 |7 SLURET M10 X 100 = 0. 35 0. 39
711 | 03010950 |4%%% 3 Hhg4T $4-6X10-16 A 0. 03 0. 03
712 | 03010960 |4%%% [ Bhg%T $ 4-6X20-35 A 0. 04 0. 04
713 | 03010970 |4%%% 3 Hh84T M5 X 80 A 0. 04 0. 05
714 | 03010980 | Hrig4T A 0. 04 0. 04
715 | 03011020 |FH Xi24T M3 X 20 A 0. 05 0. 06
716 | 03011040 |[Huig4T M4 X 12 A 0. 06 0.07
717 | 03011170 |4EEei24iT M2-5X 4-50 A 0. 04 0. 04
718 | 03011200 [# )y A 0.27 0. 30
719 | 03011220 |3 H; A 0. 02 0. 02
720 | 03011230 |GF4TH A = 0. 44 0. 50
721 | 03011241 [#]g kg 5.38 6. 08
722 | 03011250 [#[E M2-8 A 0. 04 0. 05
723 | 03011260 [#[g] M10-20 A 0.27 0. 30
724 | 03011280 [#[E M12 A 0.18 0. 20
725 | 03011290 [#]g] M14 A 0.32 0. 36
726 | 03011300 [P M16 A 0. 34 0.38
727 | 03011330 [F5 % M10-16 N 0. 04 0.05
728 | 03011340 |44 [ M8 N 0.14 0.16
729 | 03011370 |34k M2-10 A 0. 02 0. 02
730 | 03011380 |3 %% | M12-22 N 0.12 0.14
731 | 03011390 |33k M16-30 A 0.19 0.21
732 | 03011410 |35 5 g M6 A 0.11 0.12
733 | 03011430 |95%ykpE M2-12 A 0.01 0.01
734 | 03011440 |85%ErpE M14-20 N 0. 09 0.10
735 | 03011450 |95%y kg M10 A 0. 09 0.10
736 | 03011460 |85%ErpE M16 N 0. 08 0.09
737 | 03011510 [A4H4NER[E $10-12 N 0.18 0. 20
738 | 03011610 | AiB4NIELL A 1.26 1.42
739 | 03011620 [PEEFURIZE22 DN20 N 0.32 0. 36
740 | 03011670 [JEJFLI242 A 8.01 9. 05
741 | 03011680 [#ZE} Zie kg 6. 19 7.00
742 | 03011690 [#ZE} e /N 0.11 0.12
743 | 03011710 [#2H} M12 A 0.11 0.12
744 | 03011720 |4FEE} M8 A 0. 88 1. 00
745 | 03011730 [0 L) M20 A 0.31 0.35
746 | 03011740 |45 IE 42 £t M12DL Y A 0.18 0. 20
747 | 03011760 | eb 45 [ 2 2 RF A 7.21 8. 15
748 | 03011830 [Hhl N Mg E] kg 7.35 8. 30
749 [ 03011860 [Fffil N g k) M8-14 kg 7.50 8. 47




750 | 03011890 [¥&Hill/S f g~} M18-22 N 0. 60 0. 68
751 | 03011910 [N Mg Rk M50-60 A 2.41 2.72
752 | 03011950 |45 %ean s it 3X 15-20 A 0. 20 0.23
753 | 03011960 |4 44 Kizk) 1.5x15 A 0. 19 0. 22
754 | 03011970 |48 g st 3x15 A 0. 19 0.21
755 | 03011980 |4k 44 Kk} 1.5%20 A 0.21 0. 24
756 | 03011990 |4 4% g Et 3% 20 A 0.23 0. 26
757 | 03012000 |4 44 K k) 3X 25 o 0. 25 0. 28
758 | 03012010 |44 g st 3% 32 A 0. 29 0.33
759 | 03012020 |4 44 K k) 3X 40 o 0. 60 0. 68
760 | 03012030 |48 4% gL} 3% 50 A 0. 66 0.75
761 | 03012040 |4 44 Kizk) 3X65 o 0.87 0.98
762 | 03012050 |46 S ia L} 3% 80 A 1. 06 1.20
763 | 03012060 |4 44 Kigk) 3% 100 o 1.33 1. 50
764 | 03012130 |X[E#24% “5iE kg 7.48 8. 45
765 | 03012190 [AEEANIEK: M8 X 25 A 0. 58 0. 65
766 | 03012200 [A4H4NEERE M10X 150 AN 2.07 2.34
767 | 03012220 |[AEEANIERK: M12X 100 A 3. 65 4.12
768 | 03012240 [A4HANIERE M12 X 350 N 14. 39 16. 26
769 | 03012250 |ANEHANIE S M16 X 45 A 2.07 2. 34
770 | 03012270 [AHANEERE M16X 200 A 3. 44 3. 89
771 | 03012280 |THAIANER AN M16 X 70 A 3. 45 3.90
772 | 03012300 | ANEHANIZAK 12844 A 0.81 0.92
773 | 03012310 | ANEFABZAK 1244 M8 X 60 A 1.14 1.29
774 | 03012320 [ANEEEZAK B8R M10 X 70 A 1.89 2.14
775 | 03012440 |27 Sk A A 0244 M2-5X 15-50 A 0.35 0. 40
776 | 03012460 |- [ =L yE R M6-12 X 22-80 A 0. 36 0.41
777 | 03012470 |27 Sk A A 04 M8—12 X 12-50 A 0. 36 0.41
778 | 03012480 |- [F =L HEEEiZR e M5 X 40 N 0. 35 0. 40
779 | 03012620 M4 M6-8 X 100 £ 1.68 1.90
780 | 03012630 |[Hi iz s M12X 160LL T = 2. 24 2.53
781 | 03012640 |[HujEiiEise M14 X 120-230 £ 6. 15 6. 95
782 | 03012650 |HujinE e M16 X 120-300 = 7.27 8.21
783 | 03012660 |[HijEiiE s M16 X 150-230 £ 7.27 8.21
784 | 03012680 |[HbJAIEH M8 X 120 = 0. 45 0.51
785 | 03012690 |HijEiiEis M10X 100 £ 0.81 0.92
786 | 03012710 |[HbJAIER M12X 120 = 1.98 2.24
787 | 03012720 |[HujEiiEis M12 X 150 £ 2.21 2. 50
788 | 03012730 |[HbJAIER M12X 160 = 2. 59 2.93
789 | 03012740 Mzt M12 X 300 £ 3. 63 4. 10
790 | 03012751 |HujHuEfe M12X 1070 kg 17. 34 19. 59
791 | 03012760 |HijEiiEise M16 X 230 =z 6. 15 6. 95
792 | 03012770 [Hhngse M20 X 300 £ 6. 69 7.56
793 | 03012790 |[*fyi2ise kg 7.48 8. 45
794 | 03012800 [Xf sk d 16 kg 7.48 8. 45
795 | 03012810 |51 Hubgse kg 5. 96 6.73
796 | 03012820 |[af5iig Hy HhnAe M8-10 = 0. 22 0.25
797 | 03012830 |77 7y Fbg A2 M10X 40 = 0.31 0.35
798 | 03012840 |[af5iig Hy Hhne M10X 100 £ 0. 62 0.70
799 | 03012850 |77l 7y HbZ A2 M12X 100 = 0. 65 0. 74
800 | 03012860 |y iy HdZ A2 M16X 45 = 0.97 1. 10
801 [ 03012870 |y Ma -y HaZ e M16X 150 = 2. 65 3. 00
802 | 03012880 |7lig iy HdZAs M16 X 200 £ 3. 10 3. 50
803 | 03012890 [yl ke M14 = 0. 45 0.51




804 | 03012900 |7 S Mgk M2-5X 4-20 = 0.22 0.25
805 | 03012910 |51 /s fhh2As M12 LAk kg 6. 19 7. 00
806 | 03012930 |77 ME i e kg 6. 77 7.65
807 | 03012950 |7l 44 M24 X 101-150 = 3.01 3. 40
808 | 03012960 |a5ilE b 44 M27 X 125-150 = 4. 87 5. 50
809 | 03012970 |#7MEiZse M8 X 85 = 0.21 0. 24
810 | 03012980 |a5ilE w44 M12X 25 = 0.27 0. 30
811 | 03013000 |7 liE 44 M18 X 50 kg 5. 96 6.73
812 | 03013020 |#7lEIdekisss M12X 100 = 0. 65 0.74
813 | 03013030 |+ 1lig ¥k i2is M20 X 100 = 1.72 1.94
814 | 03013040 |#7lEIgekisss M22 X 120 = 2.82 3.19
815 | 03013050 |yilEFo kg e M24 X 120 = 3.01 3. 40
816 | 03013060 |#7lEIdekisss M30 X 140 = 5. 66 6. 40
817 | 03013070 |7 ME 54k iz 42 M30 X 150 = 5. 72 6. 46
818 | 03013120 [BE%E JHY iy iE g4 = 0. 44 0. 50
819 | 03013130 [PEEEK il 15 R4 M6 X 40 i 0.37 0.42
820 | 03013160 |H¥ErAk il I igFe M10 X 50 = 0. 66 0.75
821 | 03013180 |H/EeA il 7 M hgke M10 X 80 = 0.93 1. 05
822 | 03013190 |H¥ErAk il 1 I lg ke M12 X 40 = 0.81 0.92
823 | 03013200 |4 /Ee Ak il 7 M hgke M12 X 50 = 0. 95 1.07
824 | 03013210 |HEEeAk il 2 I ig ke M12 X 80 = 1.19 1.35
825 | 03013220 |H/EeA il 7 M hgke M14 X 50 = 0. 96 1. 09
826 | 03013230 |HEeAk il 1 I ig ke M16 X 85 = 3.63 4.10
827 | 03013240 |HEeA il 7 M lgke M16 X 200 = 7.96 9. 00
828 | 03013250 |HEr Ak il 1 I U ke M16 X 430 z 18. 14 20. 50
829 | 03013260 |4 EeAk il 7 M lgke M18X 95 = 4. 87 5. 50
830 | 03013300 |HEeAE il /S A 71 M ME A2 H{M10 X 14-70 = 0. 35 0. 40
831 | 03013390 |HErAk il 7 ME S22~ 15{M8 X 50 AN = 0. 44 0. 50
832 | 03013420 |¥¢EAE HilH MEZE A2 F 15{M10 X 100 AN £ 0. 84 0. 95
833 | 03013430 |HEeAS il 77 MEuZ ke 21 158{M12 X 100 AN z 1. 09 1.23
834 | 03013470 |¥¢ErAE il MEIZE A2 F 15{M16 X 100 AN £ 1. 46 1.65
835 | 03013500 |H&EE Ak il 77 M uS A2 21 15{M16 X 250 AN z 3.45 3.90
836 | 03013660 [PEEE/Nfa g iR M8 X 75 = 0.31 0.35
837 | 03013700 |H5%8F/S A7 ME S AR 724N MLO X 14-75 z 0. 56 0. 63
838 | 03013720 |¥%5E N ME IS A2 1 2~ ML6 X 85-140 = 0.75 0. 85
839 | 03013800 |#iriefikizts M8 z 0.61 0. 69
840 | 03013830 |44 Akigie M10 = 0. 88 1. 00
841 | 03013950 |[/msmiZsse kg 8. 85 10. 00
842 | 03013980 |fjsmiZfe M39 X 1335 | 285. 40 322. 50
843 | 03014020 |[{Ei5iBke > 14. 60 16. 50
844 | 03014030 |[{EisuEse M6 X 120 £ 2.57 2.90
845 | 03014040 |{EH5IEke M12 X 200 = 4. 42 5. 00
846 | 03014070 [fv@EmZHe M16 X 250 £ 7.96 9. 00
847 | 03014080 |{¥H5uEke M20 X 300 = 14. 60 16. 50
848 | 03014100 |f&illyck e M10 X 35 = 0.24 0.27
849 | 03014150 [/NfaarlEigie kg 5. 96 6.73
850 | 03014160 [¥I s ff 7 iE g ke kg 6. 19 7. 00
851 | 03014190 ﬁﬁ?bxﬁﬂﬂ?ﬂ] e M6—-12 X 12-50 = 0. 20 0.23
852 | 03014300 [HHi /S fi g heke M16 X 150-250 = 1.68 1.90
853 | 03014310 ﬁﬁ%J/ F 7 TR A M20 X 80LL N £ 1.76 1.99
854 | 03014330 [Xhl s f 7 iE g ke M6 X 20 E 0. 06 0. 07
855 | 03014360 [kl 7 A 7t 8 iR A2 M8 X 30 = 0.13 0.15
856 | 03014380 [kl /N £ g 42 k2 M8 X 75 = 0.23 0. 26
857 | 03014390 [} /N Fi 7t e BE 2 M10 X 30 = 0.21 0. 24




858 | 03014420 [}/ Fi 7t e WE A2 M10 X 75 = 0.35 0. 40
859 | 03014430 [¥hl s ffa7 g g ke M12 X 50 = 0.35 0. 40
860 | 03014440 [K&ill7S f 71 I8 24 M12 X 55 = 0. 38 0.43
861 | 03014450 [Kih s £ g 2 A M12 X 65 = 0. 42 0. 48
862 | 03014460 [Xll 7S f 71 I8 i A M12 X 75 = 0. 48 0. 54
863 | 03014470 [kl 7S f v g g ke M12X 100 = 0. 65 0. 74
864 | 03014490 [X&ill 7S f 71 I8 i A M16 X 60 = 0. 74 0. 84
865 | 03014500 [kl £ g 2 A2 M16 X 65 £ 0. 84 0.95
866 | 03014510 [kl 7~ f 71 g iR A M16 X 70 = 0.91 1.03
867 | 03014520 |l 7~ f v WE hE A M16 X 80 = 0. 88 1. 00
868 | 03014530 [kl 7~ f 7t g iR A2 M20 X 80 = 1. 50 1.70
869 | 03014540 &l 7~ f iy WE hE A M22 X 85 = 2.36 2.67
870 | 03014550 [kl 7S f 7t I8 iR A M22 X 90 = 2.43 2.75
871 | 03014570 [kl £ g 2 e M27 X 95 £ 3.82 4.32
872 | 03014580 [kl 7~ f 7t IR iR A2 M27 X 105 = 3. 94 4. 45
873 | 03014590 &l 7~ F v iE BE A2 M27 X 115 = 4. 14 4. 68
874 | 03014600 [X i/ f 7t g i 42 M27 X 120 = 4. 30 4. 86
875 | 03014610 [kl s f s g i As M30 X 130 = 5.93 6.70
876 | 03014620 [kl f 7t g i A2 M30 X 140 = 6. 14 6. 94
877 | 03014630 [kl fi s g w44 M36 X 140 = 6. 90 7. 80
878 | 03014640 [Xl/ f 7t g i 42 M36 X 150 = 9.03 10. 20
879 | 03014650 [kl fi s g i A4 M36 X 160 i 6. 20 7.01
880 | 03014660 |kl £ I gk M42 X 170 = 16. 64 18. 80
881 | 03014670 [kl fi s g i As M42 X 180 i 8. 27 9. 34
882 | 03014770 [l /S A g i a2 [M22 X 90-120 = 3.13 3. 54
883 | 03014830 |kl figse kg 6. 32 7. 14
884 | 03014870 [}/ flg ke M6 X 25 A 0. 04 0. 04
885 | 03014880 [kl N fhigie M8 X 20 z 0. 09 0.10
886 | 03014920 |K&Hhih2te M10 X 20-50 = 0.17 0.19
887 | 03014930 [F&#hhz4e M12 X 20-100 £ 0.41 0. 46
888 | 03014950 |FifFiZie kg 7.61 8. 60
889 | 03014970 [/Sfaigse kg 5. 88 6. 64
890 | 03015000 |/~ fHiZke M6-8 X 20-50 = 0. 25 0. 28
891 | 03015010 [/Sfaigse M6-8 X 20-70 £ 0.25 0. 28
892 | 03015020 |/~ fHike M6-10X 20-70 = 0.27 0. 30
893 | 03015030 [/Nfaigse M10 X 20-50 £ 0. 28 0.32
894 | 03015040 |/ fHiBke M10-14X 100 = 0. 30 0. 34
895 | 03015050 [/Nfaigse M12 X 20-100 £ 0. 30 0. 34
896 | 03015060 |/ fHiZke M14 X 14-75 = 0. 48 0. 54
897 | 03015070 [/Sfhigse M16 X 20-100 £ 0. 56 0. 63
898 | 03015080 |/~ fHiZke M16 X 60-80 = 0. 56 0. 63
899 | 03015090 |/ fHuZke M20 X 70-100 =z 1.50 1.70
900 | 03015100 [/Nfaigte M8 X 20 A 0. 09 0.10
901 | 03015110 [/Sfaigse M10 = 0. 35 0. 40
902 | 03015130 [/Nfaigse M20 X 60 = 1.33 1.50
903 | 03015140 |/~ fHigke M30 X 200 = 6. 99 7.90
904 | 03015160 [#2#4: s kg 7.62 8.61
905 | 03015190 |M&42 M30LAAE S 2. 48 2. 80
906 | 03015200 [#2#4: M5 £z 0. 05 0. 06
907 | 03015310 |iZke M30 X 200 = 5. 96 6. 74
908 | 03015360 |fEZk it M6-12X50-120 = 1.36 1.54
909 | 03015380 |ffikiBse M10-16 (424 i 2. 89 3.27
910 | 03015390 |FZik 44 M16X 100-160 = 3. 94 4. 45
911 | 03015400 |JZHKIEHE M18 X 100-160 = 4. 96 5. 60




912 | 03015410 |KiEHe M20 X 100-160 = 6. 02 6. 80
913 | 03015430 |k iZ4e M6 = 0. 55 0. 62
914 | 03015450 |[fZfKigse M8 = 0. 62 0.70
915 | 03015460 |fEZKk 4 M10 = 1.67 1.89
916 | 03015480 |[fZfiKigse M12 = 2.61 2.95
917 | 03015500 [WZhKi24e M14 £ 3.36 3. 80
918 | 03015520 [fZfikigse M16 = 3. 94 4. 45
919 | 03015530 [WZhKkiZ4e M18 £ 5.18 5. 85
920 | 03015540 |k M6 X 50 = 0.55 0. 62
921 | 03015550 [WZhKkiZ4e M6 X 85 £ 0.81 0.92
922 | 03015560 |[HKiEHe M8 X 60 = 0. 87 0. 98
923 | 03015570 |[WZhKki24e M8 X 75 = 0.99 1.12
924 | 03015580 |JfKkiE4e M8 X 80 = 1.12 1.27
925 | 03015610 |fEZKk 4 M10X 80 = 1.67 1.89
926 | 03015630 |k M12X 80 = 2.61 2.95
927 | 03015640 |[ZKIE M12 X 100 = 3.01 3. 40
928 | 03015680 |ffikiEie M20 X 160 A 6. 02 6. 80
929 | 03015700 |3k} K12k A 0. 09 0.10
930 | 03015800 [X:=Lig4e M16 X 340 = 3.98 4. 50
931 | 03015850 |4/~ ffii2fe M8 = 1.23 1.39
932 | 03015870 [UA!IBEHE M10 X 50 = 1.98 2.24
933 | 03015880 |UZiZfe M10X 108 = 4. 45 5. 03
934 | 03015920 |FrdmidiEsigss M12X 40 A 0. 70 0.79
935 | 03015940 |ff 24 kg 7.90 8.93
936 | 03015960 |&kJ74T - 150mm i) 3. 50 3. 96
937 | 03015970 |Ji%T £:50mm A 0. 58 0. 66
938 | 03015980 | KWE4AT N 2.11 2. 38
939 | 03015990 |[4lE4T A 1. 40 1. 58
940 | 03016000 |[&4T A 1. 06 1.20
941 | 03016010 |%4%T kg 99. 29 112. 20
942 | 03016020 |[[R[Vu4T A 0. 30 0. 34
943 | 03016030 4R T4T ¢ 8cmPA N kg 10. 51 11.88
944 | 03016040 |41 14T ¢ 8cmbPA Ak kg 14. 02 15. 84
945 | 03016050 |ZkP\4q A 6.79 7.67
946 | 03016060 |2f= [ Sk i 77 hE £F M5 X 15 = 0. 29 0. 33
947 | 03016070 [ASEBAN/S FalEAE M6 A 0. 42 0. 47
948 | 03016080 [ANEE4N/S AMEFEHTIERE [M6X50LL z 0.35 0. 40
949 | 03016090 [ANEHEN N MAIEFEFIEEE [M8XB0LLF = 0. 62 0.70
950 | 03016110 | AEEM N M HTIEEE [M10X 20 = 0. 83 0. 94
951 | 03016160 [Pi=LiB4T M6 X 55-65 A 0. 30 0. 34
952 | 03016170 |yi=ki24T M4 X 10 /N 0. 05 0. 06
953 | 03016190 |[yiskis4r M10 X 53 =z 1. 42 1. 60
954 | 03016200 [¥iki2%T M16 X 25 A 0. 88 1. 00
955 | 03016210 [HriEuZFe 4N M20 X 100 = 1. 42 1. 60
956 | 03016211 [iFlEiske FH4 M22 X 120 = 3.19 3. 60
957 | 03016220 |85y M10 A 0. 04 0. 05
958 | 03016230 |44 o £ g M16 A 0. 10 0.11
959 | 03016240 |4E4E N 2L M10 N 0.10 0.11
960 | 03016250 [44E N flEE M12 A 0.12 0. 14
961 | 03016260 |4EEE/S A2 M8 X 250 A 1.12 1.26
962 | 03016290 [PEEE/SAIEMATIREE  [2584 M10X14-70 = 0. 66 0.75
963 | 03016300 [PEEE/ SR TIREE (203 M12X14-75 = 0. 95 1.07
964 | 03016310 |¥EEr /N g ERE  [234)E M6 X 14-75 E 0.53 0. 60
965 | 03016320 [PEEE/SAMRMTIREE (2808 M10X14-75 = 0. 66 0.75




966 | 03016330 [PEEE/NAIEMATIERE  [2°PE1HE M8 X 100LLH & 0. 64 0.72
967 | 03016340 [¥EEE/SmiBkeiiger  [2°F313E MI0X50LLH] & 0. 66 0.75
968 | 03016350 [PEEE/NAMEMATIEEE  [2°PEHE MI0X 10084 ) & 0. 84 0.95
969 | 03016360 [PEEE/SAIEMAIRE:  [2°PE1HE M6 X100B4 ] & 1. 55 1.75
970 | 03016370 [PEEE/SAMEMATIERE  [2°PE1HE MI6X 15000 & 3.45 3.90
971 | 03016380 [PEEE /SAIEMEAIREE (2P 1E M20X 10084 & 7.83 8.85
972 | 03016390 [PEEE/SAMEMATIREE  [M6X16-25 = 1. 68 1.90
973 | 03016400 [¥EEE/SAMEHIREE  [M8X16-25 = 4.51 5.10
974 | 03016410 [PEEE/SAIRMTIREE  [M8X30-60 = 5.93 6. 70
975 | 03016420 [P¥4E S fmigkeiriEst  [M16X85-100 = 2.71 3. 06
976 | 03016430 [PEEE/NAIEMATIERE  [MBXT5 = 2.61 2.95
977 | 03016440 |55 BEkLMEFE M24 X 130 % 1.61 1.82
978 | 03016450 |55 E Bk A M24 X 170 % 1.65 1.86
979 | 03016460 |55 Bk MEFE M27 X 200 % 2.35 2. 66
980 | 03016470 |4 10X 32 A 1. 64 1.85
981 | 03016480 [#E4E/NfMigie M12 X 50 i 0. 40 0.45
982 | 03016490 [/NfaiEL) kg 5. 60 6. 33
983 | 03016500 [N fHIEL} M6-10 A 0. 22 0.25
984 | 03016510 [/NfaiEL) M12-16 A 0. 96 1.08
985 | 03016520 [/ fHiEEE M8 A 0. 22 0.25
986 | 03016530 [/NfaiEL) M10 A 0.83 0.94
987 | 03016540 [ NPty [M6X30 i 0.12 0.14
988 | 03016550 |/SAHMgFear g RE  [M8 X 30 = 0. 20 0.23
989 | 03016560 [/NAMgFeiriiZiEtE  [M10X60 i 0.29 0.33
990 | 03016570 |/ fHigkeasiE £t = kg 5.61 6. 34
991 | 03016590 |/~ ff 245 g Bt M6 X (30-50) i 0.18 0. 20
992 | 03016600 |/~ e i2R) M6 X 75LL = 0.18 0. 20
993 | 03016610 |/~ 247 i8Rt M(6-12) X (12-50) = 0. 20 0.23
994 | 03016620 |/~ M2 iE R} M8 X (30-50) = 0. 22 0.25
995 | 03016630 |/ 27 i8Rt M8 X 75LL = 0. 22 0. 25
996 | 03016640 |/ fHMEFeH: 12 R M10X 7500 F z 0.31 0. 35
997 | 03016650 [/NfHI2eT 2L} M10 X 80-130 £ 0. 36 0.41
998 | 03016660 |/ ffigke 1 12 Rt M12X 7500 F z 0. 44 0. 50
999 | 03016670 |/~ 27 iE RE M14 X 750 F = 0. 50 0. 56
1000 03016680 |/~ U8 ke 7t e £F M16 X 61-80 = 0. 56 0. 63
1001] 03016690 [~ ffug e s iE K] M20 X 100-150 =z 1.50 1.70
1002] 03016700 |/~ ffh U8k 715 e £ M20 X 50 DL kg 5. 61 6. 34
1003| 03016710 [~ fhig e s g k) M20 X 80LL T = 1. 42 1. 60
1004 03016720 |/ ff M8 s b8 R M22 X 90-120 = 2. 43 2.75
1005| 03016730 [~ fhigre s b2 k) M30 X 60LL T = 2. 92 3. 30
1006 03016740 |/~ fh U8k 17 8 R M6 X 75 = 0. 22 0.25
1007| 03016750 | ffih2 ke b B) M8 X 75 =z 0.23 0. 26
1008] 03016760 [N ffug e g H) M10 X 60 = 0. 26 0. 29
1009 03016770 |/ fHi2Ae s ig L} M10 X 260 = 1. 04 1.18
1010] 03016780 [N ffug e s B R} M10 X 75 = 0.35 0. 40
1011| 03016790 |75 ff Ak b2 L} M12 X 50 = 0.35 0. 40
1012] 03016800 [/ ffugre s 2B} M12 X 55 = 0.38 0.43
1013] 03016810 | it ks b B) M12 X 75 = 0. 48 0. 54
1014] 03016820 [N ffug e s g H) M12LL4h kg 5.61 6. 34
1015| 03016830 | b ke b B) M16 X 80 = 0.97 1.10
1016] 03016840 [/~ ffug ke s g H) M20 X 60 £ 1.11 1.25
1017| 03016850 |/ b ks b B} M20 X 90 = 1.19 1.35
1018] 03016860 |/ hZ e iy g £F M24 X 80 = 1. 94 2.19
1019] 03016870 |/ it ks b B} M24 X 120 = 2.31 2.61




1020] 03016880 |/ it ks b8 ) M30 X 120 = 4. 64 5. 24
1021 03016890 |/NfHigtea iR, HEE |55 kg 5. 59 6. 32
1022 03016900 | St RE, PE [M6X14-75 = 0. 19 0.21
1023[ 03016910 |/Sfigte i, 3R M8 X 14-75 =z 0.23 0. 26
1024| 03016920 [/SfAHiRAe IR EE, EEE [M10X30-75 = 0. 29 0.33
1025) 03016930 |/t eaiiZ R, #4pE [M10X80-130 =z 0.38 0.43
1026] 03016940 [/SAHMRAETmIRERE, HEE [M12X14-75 = 0. 40 0. 45
1027] 03016960 |/SMugEierrRiy . #E M14 X 14-75 &= 0. 49 0.55
1028] 03016970 [7SfHigte sy, g [M16X65-80 = 0.57 0. 64
1029] 03016980 [/SfuEiemi iy, P [M16X65-140 = 1.06 1.20
1030[ 03016990 |/ RE, HPE [M16X85-140 = 1.92 2.17
1031[ 03017000 |/fiZteriiZRE, 408 [M20 X 85-100 =z 1. 64 1.85
1032 03017010 [Ny, #E [M22X90-100 = 2.37 2. 68
1033]| 03017020 [/SfAAuEie iy, A [M22X90-120 = 2. 44 2.76
1034| 03017030 [/SAuRAE T IERE. FEE [M27 X 120-140 = 4.31 4. 87
1035) 03017040 |/ft@teaiiZ R, 45 |M30X 130-160 z 6. 19 6. 99
1036[ 03017050 |[/NAHEAe iRy, g [M14X90 = 0. 55 0. 62
1037[ 03017070 |/Nffigteai i fE, P |M24 X 100 i 2. 30 2. 60
1038] 03017080 |5/ ffdgAe s g B) M6-10 X 25 = 0.24 0. 27
1039] 03017090 |*F-=LiZ4T M4 X 15 = 0.07 0.08
1040| 03017110 |*FSki24T 702 RE M10 X 14 = 0.18 0. 20
1041[ 03017120 | Xk b2 M16 X 150 i 1.78 2.01
1042 03017130 | XSk b4 M16 X 340 = 2.91 3. 29
1043| 03017140 [RS8 AT 7 b8 RE kg 5.61 6. 34
1044 03017150 | XSk AL Ay b2 Rf M6-20 X 55-75 = 1.27 1.43
1045[ 03017160 | X W2 AE 75 W2 L} M16 X 100-125 z 1. 46 1.65
1046]| 03017170 | XSk AL Ay b Rf M16 X 120-140 = 1.67 1.89
1047[ 03017180 | X WAL 15 W2 LF M20 X 150-190 z 3. 99 4.51
1048 03017190 | XSk Wk 75 b R} M24 X 170-250 = 6. 69 7.56
1049[ 03017200 | XS W2 AL 717 W2 L} M27 X 220-303 =z 11. 25 12.71
1050 03017210 | XSk W8k 75 b R M30 X 270-360 = 17.48 19. 75
1051 03017220 [ XSk WAL A5 W2 LF M10 X 30 £ 0.27 0. 30
1052| 03017230 |¥R}-E4T $ 16 N 0.11 0.12
1053| 03017240 [¥BKlF£4T $ 20 N 0.15 0.17
1054| 03017250 |¥R}-E4T $ 25 N 0.19 0.21
1055[ 03017260 |4/ fflg ke iy i B M6 X 30 £ 1.79 2.02
1056 03017270 |4i%8iE} 104 A 3.45 3. 90
1057 03017280 |44 L} 14# A 3.45 3. 90
1058 03017290 | |5 44 3X18 /N 0.32 0. 36
1059| 03017300 |#E4ETT R4 A 0.73 0.83
1060| 03017310 |h8kEa5uE k) z 0.43 0. 49
1061| 03017330 |%f%yiEise kg 7.52 8. 50
1062| 03017340 [-FSLHIEET AR EE  [MAX10 £ 0. 28 0.32
1063| 03017470 [fh#4like M12X 160 = 8. 85 10. 00
1064| 03017570 | ANEMA M I £z 2.21 2. 50
1065| 03017590 |[HidR k4T N 1.06 1.20
1066| 03017600 |UZI40 1 39. 82 45. 00
1067| 03030010 |ANEEANIT m 80. 28 90. 72
1068| 03030020 | AEEW N m 150. 88 170. 50
1069| 03030050 |[ANHH4NEEE 127 N 22.12 25. 00
1070| 03030070 [7&#e £ 3. 54 4. 00
1071] 03030080 |¥EkKl &5 & %140 m 35. 40 40. 00
1072 03030090 [& 71 | 19. 47 22.00
1073 03030100 [&T 75 AN 2l 19. 47 22. 00




1074| 03030110 [ T& R 110-55 gl 22.12 25. 00
1075| 03030120 [ A4 1H5 T Jr 13. 27 15. 00
1076 03030150 |&kid%y 100 A 2.43 2.75
1077| 03030240 |RE1E ] IRE = 17.70 20. 00
1078| 03030260 |HigdE £ | 180.01 203. 41
1079] 03030290 |PH| ]2 A 50. 44 57. 00
1080 03030310 |%i4d%Y A 3. 54 4. 00
1081[ 03030320 |4 F i 4~F 3l 10. 62 12. 00
1082 03030330 |+ A 13. 27 15. 00
1083| 03030340 |awifsEd o 35. 40 40. 00
1084 03030350 |MfssEkET BX32 A 0.53 0. 60
1085 03030360 | XU 44 A 1.33 1.50
1086]| 03030380 | AN4AAWALEE /N 1.42 1. 60
1087[ 03030390 |44 vt 50 A 22.12 25. 00
1088| 03030430 |5 F 75 > 3. 10 3. 50
1089 03030470 |JIifor 55 = 5.31 6. 00
1090| 03030480 |F3Eugsh 115 m 194. 69 220. 00
1091 03030490 || 74hk 1t kg 6. 19 7. 00
1092] 03030500 [KIT.E Fig4e MJEek kg 5.31 6. 00
1093| 03030510 |74kt kg 6. 19 7.00
1094] 03030530 4544w AL HEL BE m 17.70 20. 00
1095) 03030540 |45&4 % s ML e m 22. 12 25. 00
1096 03030550 |/ A AF m 22.12 25. 00
1097] 03030560 |54 45 7 & 140%% m 57. 52 65. 00
1098| 03030570 |K 1747 F K4 FL kg 5.31 6. 00
1099] 03030580 | 4 N 8.85 10. 00
1100 03030590 |K17] FF 4% kg 5.31 6. 00
1101[ 03030620 |45&4 1] & lolE il A 0.53 0. 60
1102( 03030630 |44 41 ] T Ao fF o HE B B m 13. 27 15. 00
1103]| 03030640 |%H&41 14 40 X 40 m 13. 27 15. 00
1104] 03030650 |UEAR& 4 TE m 37. 17 42. 00
1105| 03030660 |& )& Mm% H 15.93 18. 00
1106| 03030670 |sEfrgs H 1.77 2. 00
1107] 03040010 | — JEEAE T H £ | 168.14 190. 00
1108| 03040020 |PUJREEAE T H £ [ 230.09 260. 00
1109] 03040030 [iE4)i5# A 2. 65 3.00
1110 03040050 |7Z%E 4% = 128. 32 145. 00
1111] 03040060 |fE4Ez0AT H 10. 62 12. 00
1112 03040080 |[ig+% H 30. 97 35. 00
1113] 03040090 |X3% H 19. 47 22. 00
1114 03040100 |#=X3H 4 A 77. 88 88. 00
1115[ 03040110 |PA cHekbi: £ | 101.77 115. 00
1116] 03040120 |8E4EiEEgit kg 7.26 8. 20
1117] 03040130 [AEFERHER Ceiii)  [L=500, HA£20 = 127. 13 143. 66
1118] 03050020 |kt 200 A 14. 16 16. 00
1119 03050030 [$i 100 A 4.51 5. 10
1120 03050040 |A+iT A 0. 88 1. 00
1121] 03050080 | & H F- 24 A 2. 48 2. 80
1122 03050090 |4 fiet i i 6.19 7.00
1123] 03050100 |@EA41 14T | 88. 50 100. 00
1124 03050110 | AHEWE T il 7.08 8. 00
1125] 03050120 |33 4 = 4,42 5. 00
1126 03050130 | /& ki A 7.08 8. 00
1127| 03070080 |7K %3 /K DN15 N 10. 62 12. 00




1128] 03070090 [ AN EL 7 F /N 33. 63 38. 00
1129] 03070170 | KAFHE H shi¥e/KAHFEA 40L 3l 12. 39 14. 00
1130[ 03070180 | KAFA#E [ hyh e K FEFEL 481 =] 13. 27 15. 00
1131] 03070190 | KAGHE B shb oK A FE4]64. AL il 13. 27 15. 00
1132] 03070200 | AA%#E E 5hpb e K AEFEA67. 5L = 13. 27 15. 00
1133] 03070210 | KAH#E H shit Pe/KAHFEA81L il 13.27 15. 00
1134] 03070220 | AA%#E E 5hpb e KA FE494. 5L = 13. 27 15. 00
1135] 03070230 | KA H shi ¥e/KAEFE 108L il 14. 16 16. 00
1136] 03070250 |/IME B3Pk AFEEE (8. 4L = 30. 19 34,12
1137[ 03070260 |/MiE H B e/KAEFESE |10. 9L 2l 31.31 35. 38
1138| 03070270 |/IME BB BHe/KAFEAE |16. 1L = 32. 42 36. 64
1139] 03070280 [/M& H By /KFEFEEE [20. 7L B 33.55 37.91
1140( 03070290 |/IME B 3 BHe/KAFEEE |25. 9L = 34. 66 39. 17
1141] 03070310 [HE/KA 551 DN32 = 9.73 11.00
1142 03070320 |HEAK A 55 DN40 = 10. 62 12. 00
1143] 03070330 [HE/KAE 7151 DN50 i 11.50 13. 00
1144] 03070550 |fE/KZ5 DN50 A 3. 30 3.73
1145] 03070560 |f7/K25 DN75 o 5.73 6. 47
1146] 03070570 |fFE/KZ DN100 A 13. 65 15. 42
1147| 03070580 |[fF/KZ5 DN150 A 22. 12 25. 00
1148] 03070590 |¥Ek}A7/KZS DN32 A 3.54 4.00
1149] 03070630 |¥EE}AFEKES SHIDN40 A 3.36 3.80
1150| 03070640 |¥ERIFEKZS SHIDN50 o 5.31 6. 00
1151 03070680 | KA #HE /K #223k DN100 A 15.93 18. 00
1152] 03070700 | XA8 28 % 5 i i 1 i = 3. 10 3. 50
1153] 03070810 | £ 7Y i (A7 4R 3%) DN15 A 6. 19 7.00
1154| 03070880 |HEAK$%E:L DN50 N 10. 62 12. 00
1155] 03070990 [ AW E 11136 = 70. 80 80. 00
1156[ 03071000 | AW AT GRIIAT) gl | 106.19 120. 00
1157] 03071010 |%hAT4E:k A 17.70 20. 00
1158] 03071020 | A4H4NTE 2 gl | 106.19 120. 00
1159 03071030 | A4HEMIEE & A 17. 70 20. 00
1160| 03071040 |ANiHAN BAAKE A 70. 80 80. 00
1161| 03130010 | AEEMIEL kg 18. 23 20. 60
1162] 03130020 | AN 1Cr18NioTi kg 18. 23 20. 60
1163[ 03130030 |[ASFHANHHIIE 22 kg 18. 23 20. 60
1164 03130050 | ANiH4N G IR 22 1Cr18Ni9Ti &3 kg 18. 23 20. 60
1165[ 03130060 |R4NIEL2 kg 5.37 6. 07
1166 03130070 |RReNIEe2 €02 kg 5.37 6. 07
1167 03130080 |B4NIH LI 22 kg 6. 38 7.21
1168 03130090 |Hi4Nm HRHE 22 kg 6. 76 7.64
1169| 03130100 |4 1E4 kg 41.59 47. 00
1170 03130110 |G 5NIE 22 kg 55. 35 62. 55
1171] 03130120 |&&iNIEL kg 12.58 14. 22
1172] 03130150 |[& &A@ RG22 kg 11.85 13. 39
1173] 03130160 [fK& &g e $1.2 kg 8. 76 9.90
1174 03130170 [{E& G250 522 d1.2 kg 8.76 9.90
1175 03130190 484542 22301 $3.0 kg 23.01 26. 00
1176 03130200 |454542 22301 4.0 kg 23.01 26. 00
1177| 03130210 48454 22301 $1-6 kg 34. 51 39. 00
1178 03130240 |G JHEL2 kg 5.27 5. 96
1179 03130250 |~ AbmRfRd1E kg 6. 45 7.29
1180 03130260 |4 f sz kg 41. 59 47. 00
1181 03130300 |IAFEIEE o= m 1. 06 1.20




1182 03130310 |MAFIEHHR P2 m 1. 06 1.20
1183 03130340 |H15% 45422 kg 6. 02 6. 80
1184| 03130360 |Hi/E%% 45422 $ 2.5 kg 6. 02 6. 80
1185| 03130370 |[MifE% 45422 3. 2 kg 5.93 6. 70
1186| 03130390 |Hifik 45507 ¢ 3. 2 kg 6. 02 6. 80
1187| 03130400 |HifE% L-60 3.2 kg 6. 19 7.00
1188| 03130410 |[Hi/E%% $ 3.2 kg 5. 84 6. 60
1189 03130420 | AR HLIE S kg 18. 23 20. 60
1190 03130430 |ANEHE4AR L 102 &2.5LLH kg 18. 23 20. 60
1191 03130450 |4845 % o kg 23.01 26. 00
1192 03130460 |45 % $3-5 kg 24. 78 28. 00
1193| 03130480 |4845 % FE109 d4 kg 20. 70 23. 39
1194 03130500 |45 % 1107 & 3. 2 kg 48. 67 55. 00
1195) 03130510 |& 4 g 2% kg 6. 79 7.67
1196 03130520 [{R& &N AR |55 kg 58. 70 66. 33
1197] 03130530 |#EH LI % b4 kg 15. 21 17.19
1198] 03130540 |[fRE 2 )EI1E % $ 4 kg 16. 73 18.91
1199 03130560 |¥ERlI1E% $2.5 kg 16. 49 18. 63
1200 03130570 |¥k}11E% $3.2 kg 16. 49 18. 63
1201] 03130580 |¥RIE% $ 6 kg 16. 49 18.63
1202 03130590 |4&% AN HL R 4% kg 35. 58 40. 20
1203] 03130610 |5 % d 2L kg 5. 37 6. 07
1204| 03130620 [F£5%] kg 4. 45 5.03
1205 03130640 |1745 kg 27.95 31.58
1206 03130650 [ME45E kg 33. 63 38. 00
1207 03130660 |13 & i2%50g kg 32. 74 37. 00
1208| 03130670 |45HEK kg 22. 24 25. 13
1209] 03130680 |41k kg 44. 25 50. 00
1210 03130700 |HyRFEF] kg 3. 56 4. 02
1211] 03130710 |HFEH 55 30U kg 46. 02 52. 00
1212] 03130720 |%5KEk kg 33. 63 38. 00
1213 03130730 |44k kg 10. 18 11. 50
1214 03130740 %53k $6-13 N 4,13 4,67
1215 03130750 |43k $3 A 1. 64 1.85
1216] 03130770 |[3@4hk $ 4-6 kg 3. 39 3.83
1217 03130780 |3%im %Gk $8 kg 10. 62 12. 00
1218 03130790 |phiidhizk $ 6-8 N 5.13 5. 80
1219 03130800 |mrhikbisk $6-12 A 6. 55 7. 40
1220| 03130810 |phiidhizk $ 8-16 N 7.43 8. 40
1221 03130820 |mrhikbisk $ 10-20 A 11. 06 12. 50
1222 03130830 |phiidhizk $8 N 4,78 5. 40
1223 03130840 |rahiktisk $ 10 A 6. 55 7. 40
1224 03130850 |tk $ 12 H 8. 85 10. 00
1225[ 03130860 |tk d 14 A 10. 35 11.70
1226 03130870 |k $ 16 A 11.68 13. 20
1227 03130880 |nrhiktisk $ 20 A 16. 02 18. 10
1228 03130890 |tk $ 22 A 16. 81 19. 00
1229 03130910 |& 4%k A 31. 86 36. 00
1230 03130920 |& 4%k 10 —FH A 5. 47 6. 18
1231 03130930 |& 4%k B130H A 93. 39 105. 53
1232] 03130940 |[&4-4W4hk A 3. 56 4. 02
1233| 03130950 |&44W4h3k $6-13 N 3. 36 3. 80
1234 03130960 |& 404k $8 A 2. 65 3. 00
1235 03130970 |&44W4h 3k $ 10 N 3. 66 4. 14




1236 03130980 |&4-4W4h3k $ 16 N 11.23 12. 69
1237 03130990 |& 4-4W4h =k ¢ 20 o 14. 16 16. 00
1238] 03131000 |45 H &k 2k d8LAN A 4. 00 4. 52
1239] 03131010 |48 5554 FH 4k 3k $9-10 A 5. 34 6. 03
1240] 03131020 | % H &5k $11-14 N 8.01 9. 05
1241] 03131030 |48 5554 FH 4k Sk $ 15-18 A 17.79 20. 10
1242] 03131040 | % H &k $ 19-22 N 31. 13 35. 18
1243| 03131050 |55 4% FH 4k sk $ 23-28 /> 40. 03 45. 23
1244 03131060 | % H &k $ 29-35 N 88. 94 100. 50
1245| 03131070 |&44Fk $ 135 o 17. 70 20. 00
1246 03131100 [4H42 ) i 1. 64 1.85
1247| 03131110 |4E%% e i 0. 44 0. 50
1248 03131120 |4W4E4 Jicd 0. 23 0.26
1249| 03131130 [Wb#d Fr )ai 6. 81 7.70
1250| 03131140 |#b%EH $ 100 Fr 2.12 2. 40
1251 03131150 |#b%e A $ 150 )ai 7.26 8. 20
1252 03131160 [Wb%SH $ 200 F 11. 06 12. 50
1253 03131170 |#b%e A $ 350 )ai 13. 79 15. 58
1254 03131180 [Wb%S H $ 400 F 15. 04 17. 00
1255) 03131190 |wb#e K $ 500X 25X 4 sl 17. 43 19. 70
1256| 03131200 |{#wb#e H $ 500X 25X 4 F 17.43 19. 70
1257 03131220 |&RIARME $ 400 sl 21.17 23.92
1258| 03131240 |Jg wwb#t H $ 100 F 2.11 2. 38
1259| 03131250 |J& wb#t Fr $ 150 sl 2.11 2.38
1260| 03131260 |J8 Wbt H $ 180 F 2.12 2. 39
1261] 03131270 |J& wb#t Fr $ 400 sl 8. 88 10. 04
1262| 03131280 |JE wb#t Fr 100X 16X 3 F 2.12 2. 39
1263| 03131290 |J& wb#t Fr $ 500X 25X 4 sl 10. 22 11.55
1264 03131300 [WbEEi)%]F $ 150 Jr 6. 21 7.02
1265 03131310 |WbH4)E|F $ 400 )i 8. 90 10. 06
1266 03131320 |4 RHTEI4E Fr 14. 16 16. 00
1267 03131350 |BEFARNLLHDEE $ 100 a 17.56 19. 84
1268| 03131360 |¥ERIKE $ 6-8 N 0. 04 0.05
1269] 03131380 |¥ERIIKE $ 6X 50 A 0. 04 0. 04
1270 03131390 |¥ERIKE $ 8X50 N 0. 05 0. 06
1271 03131410 |AKRPYK 3t gk 0.18 0. 20
1272] 03131420 |Wh4K K 0. 25 0.28
1273 03131450 |7KHb4K 1204 K 1.15 1.30
1274 03131460 |[WbAR 7K 0. 62 0.70
1275| 03131470 |[WbAm 1. 54 gk 0. 50 0. 56
1276 03131480 |#kwbAn K 0. 88 1.00
1277| 03131490 |&kwbAn 0f—2# K 0.81 0.91
1278 03131500 |#kwbAn 3t K 0. 88 1. 00
1279] 03131540 |&)@H $ 150 Fr 0. 98 1.11
1280 03131550 | AEEANHE % ey kg 25. 66 29. 00
1281 03131560 [AHEINIES% A102 $2.5PAI kg 25. 66 29. 00
1282 03131570 | AHEAIKE % A102 $3.2 kg 25. 66 29. 00
1283| 03131580 [ Fr Fr 1.35 1.53
1284 03131590 [EHRENIES s kg 6. 88 7.78
1285| 03131600 |[{RARANIES J422 424 kg 6. 88 7.78
1286 03131610 [EERENIEL J422 $2.5-3.2 kg 6. 88 7.78
1287| 03131620 |[{LmRANIES J422 $2.5 kg 6. 88 7.78
1288| 03131630 [EERANIEL J422 $3.2 kg 6. 88 7.78
1289| 03131640 |[{LmRANIES J422 $4.0 kg 6. 88 7.78




1290 03131650 1&%@%’%[]#/« J427 %HE kg 6. 88 7.78
1291 03131660 |{EHRENIE % J427 $3.2 kg 6. 88 7.78
1292| 03131670 |[{LmRANIE% 45507 3.2 kg 7.96 9. 00
1293] 03131680 |44 AT #) BCU91PAg kg | 176.99 200. 00
1294 03131700 &4V $ 300 K| 195.58 221. 00
1295| 03131710 ﬁaﬁﬂ“‘)# $ 25 )ai 40. 62 45. 90
1296| 03131720 |RE LIEIE% kg 16. 49 18.63
1297| 03131730 |[BRE 2 IE1E % $ 3.2 kg 16. 49 18. 63
1298| 03131740 !é:.’ﬁ‘/—\/\kqaﬁ 22321 $1-6 kg 53. 10 60. 00
1299 03131760 |45 HpE5) iRk g 10g/R i 7.13 8. 06
1300 03131770 |45H#ukE e E LHM-3Y A 22. 12 25. 00
1301 03131780 |FHfA A m2 16. 87 19. 06
1302 03131790 |B&sk /N 5. 31 6. 00
1303| 03131810 |BE=L DN20 A 5.31 6. 00
1304 03131820 |BEsk DN40 A 5.31 6. 00
1305) 03131830 |#Hgwb&e1IE Fr $ 400 Fr 7.52 8. 50
1306 03131840 |WFfss HO8A kg 1. 00 1.13
1307| 03131850 [H/d Fi 4 4% 75422 $ 3. 2 kg 6. 88 7.78
1308| 03131870 |WNSME% kg 5. 40 6.10
1309| 03131880 |[mraN <134 < d2 kg 5. 40 6. 10
1310 03131890 |44k} kg 42. 48 48. 00
1311] 03131900 [/ A )ai 1.15 1.30
1312] 03131910 |4R4THE4 $2.5 kg 19. 47 22. 00
1313] 03131920 [4R411E42 kg 47.79 54. 00
1314] 03131930 |# AT FL45 3k DN500 o 566 640
1315| 03131940 |40 d 45 4% T107 $3.2 kg 80. 09 90. 50
1316 03131950 |G JNIE#EHE A 3. 10 3. 50
1317] 03131960 RN LIRS kg 6. 88 7.78
1318| 03131970 [{&& 44015 % E43 %) kg 12. 57 14. 20
1319 03131980 |&-4WA 4Gk /N | 353.98 400. 00
1320 03210010 |A%EHAE: E 6. 46 7. 30
1321 03210020 | AEEAHAH A 0. 85 0. 96
1322] 03210030 | AN4EANIEE kg 13. 27 15. 00
1323| 03210040 | A4HME 4 m 13. 88 15. 68
1324] 03210050 | AEENEBAE A 0.67 0.76
1325[ 03210060 [AEHE4H22 M $1X10X10 m2 48. 67 55. 00
1326 03210070 | AEENSE 1w $51 A 1. 02 1.15
1327 03210080 | AN%5405: i v $ 59 A 1.11 1.25
1328 03210110 | A4EASEMiw $ 63 A 1.33 1.50
1329 03210130 |fm&Aeft A 39. 82 45. 00
1330] 03210140 [FEEIHEL (i) 14X 17X2 m 10. 96 12. 39
1331 03210170 |&JEHR kg 3.98 4. 50
1332 03210180 |#Hv4k: kg 4.38 4. 95
1333| 03210190 |EWg#t A 3. 54 4. 00
1334 03210200 |45 %% 4R 100X 5 X 200 A 3.81 4. 30
1335| 03210208 |BE4Eekit g kg 5. 65 6. 38
1336 03210210 |4E4eeiekit FHHS kg 5. 86 6. 62
1337| 03210212 |9¥erikit 200X 200X 10 kg 5. 86 6. 62
1338| 03210220 |47k 22 m2 15. 93 18. 00
1339] 03210230 |BEEriksz M $10X10X0.9 m2 15. 93 18. 00
1340| 03210260 |4WAR Y 81 m2 4. 80 5. 42
1341 03210280 |[89Hr M 9X25X0. 8 m2 4. 42 5. 00
1342] 03210290 |4WAR Y 10X 10X0. 8 m2 4. 62 5.22
1343| 03210300 |[89Hr MY 10X10X1.0 m2 4. 80 5. 42




1344 03210310 |4RAR Y 25X 76 m2 19. 47 22. 00
1345( 03210320 |495%5 % Fr kg 3.58 4. 05
1346 03210330 |4W%F kg 8. 41 9. 50
1347| 03210340 [4W4%TF $ 22-25 kg 8. 41 9. 50
1348 03210350 |4WER t 6232 7042
1349 03210370 |4WEk b6 A 0. 88 1. 00
1350 03210390 |4M 22 M m2 6. 77 7.65
1351 03210400 |4M 22 ™ 0.3 m2 6. 77 7.65
1352] 03210420 [HAPEEEIEEAN 22N m2 7.52 8. 50
1353 03210440 |44 Biin g} #hdzk 0H-3#4)M 1 kg 13. 64 15. 41
1354| 03210450 |8k sl ) #%% 0f- 34N 24 kg 17. 06 19. 28
1355| 03210520 |¥g#HF kg 4. 42 5. 00
1356 03210530 |4 7P80 & 80 A 26. 42 29. 85
1357| 03210610 |EEEAH kg 4. 42 5. 00
1358 03210620 |4t R32N [ = m 35. 40 40. 00
1359 03210630 |4WEHAF t 6232 7042
1360 03210640 [4H# 0.8 kg 4. 96 5. 60
1361 03210660 |F#k ey kg 4. 07 4. 60
1362 03210670 |F#ek Of#— 34N 1 # kg 4. 84 5. 47
1363| 03210680 |F#k 0f—3H#4N 1 # He 1.18 1.33
1364 03210720 |F#ek 0#— 34N 54 kg 4. 84 5. 47
1365| 03210760 |5k e kg 3.13 3. 54
1366 03210770 |&}#ek Of#— 34N 1 # kg 2.72 3.07
1367| 03210780 |5}#kdk 0#-3H#4M 14 R 2. 44 2.76
1368| 03210900 |Zkf2 kg 4. 87 5. 50
1369 03210950 [0MJEIA A 1.19 1.35
1370 03210960 |#58:4e/E A 51. 77 58. 50
1371 03210970 |%44T m 40. 03 45. 23
1372] 03211010 |4f{%2A45 m 25. 06 28. 32
1373| 03211030 |44 16H m 25. 06 28. 32
1374 03211040 |4f{%2A45 16 H m2 57.52 65. 00
1375| 03211060 |ZH4R Y m2 22.65 25. 60
1376] 03211080 [#EATHHE A 23. 59 26. 66
1377 03211090 4547 A 0.03 0. 03
1378| 03211100 |%%E t 3202 3618
1379] 03211120 [JT 144 1-5 A 0.11 0.12
1380 03211130 [JF 1144 3X 12 A 0. 03 0.03
1381 03211150 [F7¥k = 0. 60 0. 68
1382 03211160 {5478 =% = 26. 24 29. 65
1383| 03211170 |34t s 0. 41 0. 46
1384 03211180 |H: L2 % A 0.43 0. 49
1385| 03211260 |#k484k $1 m 0. 03 0. 03
1386] 03211270 |#kgp4k 1.6 m 0. 06 0.07
1387 03211280 |#k4p4k $2 m 0. 09 0.10
1388 03211290 |4 ykh& 8306 A 55. 14 62. 31
1389 03211300 |%iz& $ 32 =] 14. 69 16. 60
1390 03211310 |%di%& 205 A 5. 84 6. 60
1391 03211320 |%fi#& 8206 At 3. 94 4. 45
1392 03211340 [i%HElE kg 4.19 4.73
1393 03211350 |#E4%)S B AR 160mm X 120mm X 11mm A 9.32 10. 53
1394 03211370 |4 )8 €M m2 9. 96 11.25
1395 03211380 |4:J@22 M kg 6. 94 7.84
1396| 03211440 |MB%k kg 6. 19 7.00
1397| 03211450 |ELrt A 17.70 20. 00




1398| 03211470 [ASNEANES 1 m2 | 309.73 350. 00
1399 03211480 |4 %4022 d1.6X20X20 m2 11.13 12. 58
1400 03211490 |4EEEN22 M 2. 5X67X67-d3X50] m2 10. 97 12. 40
1401 03211500 |#E4EEAR 22 $ 3. 6X 40X 40 m2 16. 37 18. 50
1402 03211510 |45 %y02 42 jaft: 80X 30X5.5 A 2.83 3.20
1403| 03211540 |¥E8} K % A 0.03 0. 03
1404| 03211550 |[¥BKlK % $ 6-9 = 0.11 0.12
1405| 03211560 |Z e = 13. 27 15. 00
1406| 03211570 | HW8jhEd0 M14 X 150 = 7.08 8. 00
1407| 03211580 |z H42jEdn M14 X270 = 8. 85 10. 00
1408| 03211590 | H W2 jEH0 M16X 250 = 10. 62 12. 00
1409| 03211600 |Z B iZjEdn M20 X 200 = 15. 93 18. 00
1410] 03211610 | HW2jhEH M20 X 300 = 18. 58 21. 00
1411] 03211620 |H4W m2 44. 25 50. 00
1412 03211630 |&k22 M 50X 50 X 3 m2 15. 93 18. 00
1413 03211640 |[RAI4R 2258 $ 100 )ai 17. 47 19. 74
1414 03211650 |FEEEET4 N 0. 58 0. 65
1415) 03211660 |4 )& 45 /84t kg 5. 55 6.27
1416 03211670 |[EJEIEE} A5 5X5 A 2. 65 3. 00
1417 03211680 |4%% LS4 A 0.42 0. 48
1418| 03211690 |& 4k A~ ] 176.99 200. 00
1419) 03211700 |JJ ¢ (D3200. D2400) |24 )ai 15929 18000
1420 03211720 |#4%5=JK A 25. 66 29. 00
1421 03211730 |#E & FANHIPEES A |AASAE m 17.26 19. 50
1422] 03211740 |45 &5 AN P8 8% (28 |250mm H 4. 87 5. 50
1423 03211750 |85 4 Figk m 13.27 15. 00
1424 03211770 |171BH kg 5.13 5. 80
1425| 03211780 |[AEAIEAT A 1.77 2.00
1426| 03211800 |52k (liih) 900mm 2% 44. 25 50. 00
1427 03211830 | AHEANER $ 63 A 17.70 20. 00
1428 03211840 |2 Bk 3044H i 17.70 20. 00
1429| 03211850 [A4EANS Sk A 44. 52 50. 31
1430 03211860 |42 2wkl PERRER Yz (SN m2 16. 81 19. 00
1431 03211870 |-+ T.JENM m2 14. 87 16. 80
1432 03211880 [Hb4#AT 2% 26. 55 30. 00
1433] 03211890 |[4#i3F A 26. 55 30. 00
1434| 03211900 |#FL2% | 283.19 320. 00
1435[ 03211910 |3&EEAE UE A 22. 12 25. 00
1436[ 03211920 |fRiEARERFUE A 22. 12 25.00
1437 03211930 |PRimARERAE IR A 30. 97 35.00
1438] 03211940 |REAR e & B EfE (S kg 13. 27 15. 00
1439 03211950 |3k A€ & EEctE A kg 21.24 24. 00
1440 03211960 |2 U3TAMAD N A 2. 30 2. 60
1441| 03230001 |[%91E $ 400 N 44. 25 50. 00
1442 03230010 |4Xiig $ 600 A 53. 10 60. 00
1443| 03230020 [%91E $ 900 N 79. 65 90. 00
1444] 03230070 |A4%ENER $ 22 A 6. 64 7.50
1445| 03230080 |[AFIEHNER $ 25 A 7.96 9. 00
1446] 03230090 |44 ENERE $ 28 A 9. 29 10. 50
1447| 03230100 |[AFKIEHNER $ 32 A 11.06 12. 50
1448| 03230200 |TdRERE A 39. 82 45. 00
1449 03230260 |5k f i H e Fo A AR kg 14. 85 16. 78
1450| 03230270 [A4E4W4E B 2 | 190.27 215. 00
1451| 03230280 |#HFL4HHE = 24. 69 27.90




1452| 03230290 |BE44HE 35L £ | 104.16 117.70
1453| 03230300 |%#ik $ 26 £ | 185.84 210. 00
1454| 03230310 |mif75 &4k Q345554 £ | 415.93 470. 00
1455) 04010020 | 7K kg 0.87 0. 98
1456 04010030 |F37KJE 32.5 kg 1. 04 1.17
1457 04010050 |48 7K g 32.5 kg 0. 39 0. 44
1458| 04010100 |4¥%KIE 42. 5R t 442. 48 500
1459 04010280 |FEMR hBZAK K IE kg 1. 07 1.21
1460 04010290 |FZHKKe kg 1.11 1.25
1461[ 04010300 |BRfiFiKie 32.5 kg 0. 56 0.63
1462 04010320 | ik e kg 0. 50 0. 56
1463| 04030001 |4M#b kg 3. 54 3. 65
1464 04030010 |&=Niwh 16# kg 3.07 3. 16
1465 04030030 |4hAb m3 | 132.87 136. 86
1466| 04030040 |4 95k kg 0. 24 0.25
1467 04030050 | A Wb m3 | 304.93 314. 08
1468[ 04030220 |ifif BETCHLEBE CENIFD) kg 0. 99 1. 02
1469 04050001 |¥KH A m3 55. 52 57.19
1470| 04050010 |AEEHIA t 66. 63 68. 63
1471] 04050020 [Ftypa $ 30-70 kg 0. 27 0.28
1472 04050030 |2+ biA m3 | 222.09 228. 75
1473] 04050040 | KkiteRks P4 m3 | 211.76 218. 11
1474| 04050050 |Kkifa®ksyp A 300-400 t 285. 16 293. 71
1475| 04050060 |4 T kg 0.27 0.28
1476| 04050080 |Wigkw A m3 72. 18 74. 34
1477| 04050100 |&:RiA —fE H 16. 65 17. 15
1478 04050130 |ERFA $ 5-20 m3 | 101.05 104. 08
1479 04050150 |EkFA $ 5-40 m3 95. 50 98. 37
1480 04050170 |ERFA $ 10-20 m3 | 103.27 106. 37
1481 04050180 |EkFA $ 20-40 m3 99. 94 102. 94
1482 04050400 |WEAIM d <40 m3 99. 03 102. 00
1483 04050410 |#F4 (&) m3 116. 54 120. 04
1484| 04050420 |Fi+E 2 A4 m3 | 222.09 228. 75
1485 04050430 |YPA4 m3 93. 45 96. 26
1486 04050460 | KIRHDER 5-80 m3 27. 49 28. 31
1487| 04050470 |[KBRA m3 99. 94 102. 94
1488| 04050480 |4t 30-70 m3 55. 52 57. 19
1489 04050520 | RARWDA m3 51.24 52. 77
1490 04070001 |5 i m3 38. 87 40. 03
1491 04070010 |} m3 66. 63 68. 63
1492 04070030 |45 kg 0. 03 0. 03
1493 04070040 | A5 m3 55. 52 57. 19
1494 04070050 |mest m3 | 199.29 205. 27
1495[ 04070090 |k m3 | 187.15 211. 48
1496| 04090010 [¥yfEix t 252. 31 285. 11
1497] 04090050 | RERyBEK =i m3 60. 56 68. 43
1498| 04090080 |k kg | 131.90 149. 05
1499 04090110 |+ m3 22. 15 22. 81
1500| 04090120 |mE+ kg 2. 04 2.10
1501 04090130 |fZiE 1+ 200 H kg 1.11 1.14
1502 04090140 |HE¥ kg 1.26 1. 42
1503] 04090150 |fE ¥ il kg 1.95 2. 20
1504 04090160 |4 % kg 1.83 2.07
1505| 04090170 [HKE m3 664 684




1506 04090200 |47 & F m3 66. 43 68. 43
1507| 04090220 |[f#7K 42K kg 2. 48 2.55
1508| 04090230 [fA % kg 0.85 0. 88
1509| 04090250 |4 % kg 1.67 1.73
1510| 04090270 |3k kg 0. 66 0. 68
1511] 04090290 |[+¥71 kg 0.85 0. 88
1512] 04090300 [4H% kg 0. 42 0.43
1513| 04090310 |#&K¥ kg 1. 00 1.03
1514 04090320 |J&FIL4F4E % kg 6. 02 6. 81
1515] 04090340 |#H 24k kg 6. 12 6. 92
1516] 04090350 [kt m3 28. 52 29. 38
1517] 04090370 |F#fE + m3 22.15 22. 81
1518| 04090380 |#FH K kg 0. 50 0.51
1519] 04090390 [whfy+- m3 35. 29 36. 35
1520 04090400 |&5 -3k} m3 19. 40 19. 98
1521] 04090410 |¥#F7e % m3 | 310.58 319. 90
1522| 04090420 [&+ m3 30. 97 31. 90
1523| 04090430 [# ¥ kg 0.78 0. 80
1524| 04110010 [7¥&H KA m3 | 282.89 291. 37
1525| 04110020 |[7#H 160-180X360-450 X 1000 m3 | 282.89 291. 37
1526| 04110030 |[#H 200X 300 X 380-420 m3 | 332.81 342. 80
1527| 04110040 |[7#H 600 X 400 X 150 m2 49. 43 50. 91
1528| 04110050 |[7#A R m’ 73. 81 76. 02
1529] 04110070 |#%&F-4 150X 150 m 247. 14 254. 55
1530 04110080 [B%-FA 200X 200-250 FEH — % | m 49. 43 50. 91
1531 04110090 |54 120X 280-350 FZEH] —#{ m 41. 74 42.99
1532 04110100 [BR¥SA 120X 380-450 #&B] — % m 54. 92 56. 57
1533| 04110180 [EE7EA m3 | 388.28 399. 93
1534 04110190 [Tk m3 | 244.07 251. 39
1535 04110200 |H 44 m3 127. 58 131. 40
1536] 04110210 |4 120-150 X 300 X 3000 m3 | 388.28 399. 93
1537| 04110220 |[f i 8x15cm m 8. 88 9.15
1538 04110240 |/MNELEA m3 | 127.58 131. 40
1539| 04110250 [&LEA m3 | 266.99 275. 00
1540 04110260 |[HEELEA m3 | 399.23 411. 21
1541 04110270 |38 E4 m3 721 743
1542 04110370 [f#R JE12mm m2 | 225.89 232. 67
1543 04110380 [#Hfq m3 146. 12 150. 50
1544 04110390 |F4 Zie m3 135. 32 139. 38
1545| 04110450 | 7% m3 | 485. 44 500
1546| 04130001 |3}Jir% 290X 290 X 20 H 5.21 5.37
1547| 04130170 |FH#E 240X 115X 53 MU10 H 1. 60 1.65
1548| 04130180 |# % 300X 150 X 25 MU10 e 3.75 3. 86
1549| 04130190 |FHE 300X 150X 30 MU10 H 4. 45 4. 58
1550| 04130240 |XUIFHE 240X 120X 25 He 0. 40 0. 42
1551| 04130390 |[i#/KHi& 8cm m2 71.12 73.25
1552 04130450 | ¥EER% 500X 500X 12 m2 49. 24 50. 71
1553 04130460 |HE k% 600X 400X 8 m2 32.13 33. 10
1554| 04130620 [/ ffFERE 300mm X 30mm He 15. 51 15. 98
1555| 04130630 |fHirE 240X 120X 55 H 4.22 4. 35
1556 04130640 |HH# 5% 200X 90 X 50 B 2.93 3. 02
1557| 04130650 [MHK 5% 240X 115X 53 H 5.35 5.51
1558| 04130660 |+IRK% 300X 150X 150 e 0.85 0. 88
1559| 04130670 |mSrEER% 150mm X 150mm A 15. 53 16. 00




1560 04130680 |¥1%% 220X 150X 12 He 2.41 2. 48
1561| 04130690 |[m} Mm% 200 X 80 X 20 e 1.83 1.89
1562 04130700 || —4THk He 4.51 4. 65
1563 04130720 |/KVe sz OhE 240X 115X 53 MU10 H 0.27 0. 28
1564 04150001 |4kEmk 400X 280X 315 m2 | 276.05 284. 33
1565) 04150050 |4 R 460X 350 X 150 m2 | 175.28 180. 54
1566] 04150060 |33 Ik 350X 150X 120 m2 92. 56 95. 34
1567| 04150180 [yf VR & Ltk 400kg/m3 m3 | 217.72 224. 25
1568 04150190 |[/KVeiEA m3 553 569
1569 04170020 |35 (Z1) A< B 220mm X 240mm Hh 1.29 1.33 |
1570 04170090 |7KVe kL 385mm X 235mm He 9. 04 9.31
1571 04170100 |/KVE4E B 455mm X 166mm e 6. 78 6. 98
1572 04170110 |f&F 208X 94X 8 He 4.37 4. 50
1573] 04170140 | KW ARE L 2800mm X 994mm He 26. 57 27.37
1574| 04170150 | Ky A A B 850mm X 360mm He 9. 04 9.31
1575) 04170160 |/INEA K L 1820mm X 720mm He 26. 66 27. 46
1576 04170170 |/NEAHEE B 850mm X 360mm B 9. 04 9.31
1577| 04170180 |[HHEE B 1800 X 720730 R 24. 30 25. 03
1578 04170190 4160 /N L 150mm X 120mm He 2.03 2. 09
1579 04170200 |/INE ELIRG 7K 150mm X 120mm R 2. 26 2.32
1580 04170210 |[/NEFLE F 150mm X 160mm He 2.26 2.32
1581 04170220 /Mg BLJE T He 3. 16 3.25
1582 04170230 |4 L 420mm X 332mm He 11. 30 11. 64
1583 04170240 |40 L HE B He 9. 04 9.31
1584 04170260 |#%+F. 380mm X 240mm He 1.52 1.57
1585 04170270 |Hi+4 kL 450mm X 195mm B 2.26 2.32
1586 04170280 |#EH BL He 1.10 1.13
1587 04170290 |4 FL 240X 220X 10 B 2.52 2.60 |[FTI
1588| 04170300 |A B3k 208X 94X 8 H 3.23 3.33
1589 04170310 |AFLIG/K 240X 220X 10 He 3. 32 3. 42
1590| 04170320 AR AEiD He 2.12 2.18
1591 04190001 |+ % $ 100 £:500mm A 32. 17 36. 35
1592 04270001 | 7K BE AR m2 40. 94 46. 26
1593| 04270020 |[VE#EE 153 300X 150X 30 e 1.79 2.02
1594 04270030 |JR#E 1R 300X 250X 30 H 2.11 2.38
1595| 04270040 |JR&E+brbiE 100X 100 X 1200 A 11.25 12. 71
1596| 04270050 |JE¥E+ ik m3 | 492.08 556
1597 04270090 |JR%E+ 8RR m3 590 666
1598| 04270100 |[vE#EE+ L% 20mm X 25mm m 0.95 1.08
1599| 04270110 |[VEHEE+ Tk m3 522 590
1600( 04270130 |Hc4s 7Y yR it 1 Pl £ m2 39. 97 45. 17
1601| 04270140 |ZKVBFIAKE: m3 2648 2992
1602 04270150 |/K VA m3 2468 2789
1603| 04270160 [/KIEPIAFEFF m 158. 51 179. 12
1604| 04270170 |/KVBFIA T AR JZ120mm m2 [ 299.77 338. 74
1605] 04270270 |5EJEA6E 25M He 26. 31 27.10
1606] 04270280 |4ETEA5HE 30M B 27.95 28.79
1607]| 04270290 |%EJEA6H 40M He 28. 50 29. 36
1608] 04270300 |9RAZAREL MY7-MY9 He 23.02 23.71
1609 04270310 |JIEAFEL MY11-MY15 He 26. 31 27.10
1610| 04290030 | ¥ & ¥t 4 i 26. 71 30. 18
1611] 04290040 |[4X A5 IR k&L 7 B m3 612 691
1612] 04290050 |8Xf VR ¥t + 7 B m 58. 46 66. 05
1613 04290170 |JE%EHHR 400X 400 X 60 He 9. 04 10. 21




1614 04290190 [R5kt AE 100# A 0. 60 0. 68
1615| 04290200 |vE¥%E 45 Hfh: DN300 A~ | 299.95 338. 94
1616] 04290210 |V T E DN400 A | 438. 46 495, 46
1617 04290220 |JR#k - Ha DN500 A 590 666
1618] 04290230 |V T ¥k DN600 A 857 968
1619 04290240 |JR#k 5 Ha DN700 A 1098 1241
1620] 04290250 |V 0k DN800 A 1251 1414
1621] 04290260 |vE&E+ #4414 DN900 /> 1518 1715
1622 04290270 VR ¥k DN1000 A 2003 2263
1623| 04290280 |V &+ 31t DN1200 A 2616 2956
1624] 04290290 |VR#EE ¥k DN1400 A 3448 3896
1625) 04290300 |V k155t DN1600 A 4280 4836
1626] 04290310 |V Tk DN1800 A 5112 5776
1627] 04290320 | T i & 7 7 e L i m3 718 811
1628] 04290350 |V EE &b m3 552 624
1629 04290360 |7k 1R &t - HE 55 €20 m3 889 1005
1630] 04290400 |Fjish|vE K - h5 e €20 m3 889 1005
1631] 04290620 | o il 4% g Vg ok LA m 199. 85 225. 83
1632 05000010 |~ EFF kg 5. 84 6. 60
1633| 05000020 | [k kg 53. 10 60. 00
1634| 05110010 [ CaAHR 350X 450 X 25 H 11.95 13. 50
1635 05130010 |f{E4R 125 m2 22. 12 25. 00
1636| 05150001 |HFEMR m2 14. 63 16. 53
1637 05150020 |AZ2H% 25X 610X 1830 m2 9.77 11. 04
1638| 05230020 |FIASG 63-138 X 22 He 2.21 2. 50
1639| 05250020 |AHE A 7.52 8. 50
1640 05250030 [AHE £:0. 75m R 3. 66 4,14
1641] 05250040 |FZMiHiE E4%110-200mm Jiss 11. 39 12. 88
1642| 05250050 [F2AHE 2.5m-3m, ¢ 5cm e 18. 58 21. 00
1643| 05250080 | AT T4T $ 8cmbA A 5.31 6. 00
1644| 05250090 |[A[74] ¢ 8cmbA b A 7.08 8. 00
1645[ 05250100 |AfHAH A 31.86 36. 00
1646| 05250110 |AHE HLAR 150 X 225X 25 A 10. 62 12. 00
1647| 05250120 [AHC FLAR 350X 450 X 25 He 17. 70 20. 00
1648 05310010 |[F4T K:1. 2m R 2.95 3.33
1649| 05310020 |FEAT £:2. 2m A 5. 45 6. 16
1650 05310030 |E4T 1. Tmifd [FE1%27cm i) 15. 18 17. 16
1651| 05310040 |[FAT 1. 7Tmi2 H4£33cm Jics 18. 18 20. 54
1652 05310050 |E4T $ 120 i) 52. 77 59. 64
1653 05310060 [FA4T ¢ 100mm X 4m A 17.70 20. 00
1654 05310070 |E4T $ 500 kg 1.19 1.35
1655 05330001 |53 @77 H $ 20 m2 44. 25 50. 00
1656| 05330030 [17% H m2 8.87 10. 03
1657 05350001 |HEE kg 2.70 3. 06
1658 05350020 |714T K:100mm A 0.27 0. 30
1659 05350030 |174T £-200mm A 0. 44 0. 50
1660 05350040 |714T K-300mm A 0.71 0. 80
1661 05350050 7758 kg 2.70 3. 06
1662 05350070 |47 Fr 7 30mm m 0.53 0. 60
1663| 05350080 |77#i A 2. 48 2. 80
1664 05350090 |17 &t FF4£3-5cm m 4. 80 5.43
1665 06010070 |45 1 B 75 FH 85 m2 64. 60 73.00
1666| 06010230 |FH5 B2 3k 785 88 m2 52. 21 59. 00
1667| 06010240 |53 Hi 3 #5 BE 14 56 m2 68. 14 77.00




1668 06090001 |¥& /2% m2 | 184.07 208. 00
1669 06090010 |3 R B3I CRIL R |8+0. 76+8 m2 | 274.34 310. 00
1670 06110040 |23 LOW-EBE 35 6+12A+6 m2 | 170.80 193. 00
1671 06250001 | BERD % 5 §3 m2 46. 02 52. 00
1672] 06430010 |BouERE §19 m2 642 725

1673 06430020 |[ -k 3% 58 § 28 m2 | 358.41 405. 00
1674 06430030 |7k 335 6+1. 14PVB+6 0. 5h m2 | 305.31 345. 00
1675) 06450001 |- 5% 58 Fr 8. 14 9. 20
1676| 06530001 |BkIsh#Eve m2 | 175.22 198. 00
1677| 06550001 |J& F B 5E4E 86 m2 69. 03 78. 00
1678| 06570001 |7KA7iHBEFEHR He 8. 05 9.10
1679 06570010 |/ GH% IRk kg 4.78 5. 40
1680| 07010010 |#&#R 152X 152 m2 61.95 70. 00
1681 07010030 | 200 X 200 m2 63. 72 72. 00
1682| 07010060 |%& )i G 95 X 95 m2 57. 52 65. 00
1683| 07010070 | ) if& 150X 150 m2 57. 52 65. 00
1684| 07010080 |# )i k% 194X 94 m2 33. 19 37.50
1685| 07010090 | )i ik 200X 200 m2 55. 75 63. 00
1686| 07010100 |# )i k% 240X 60 m2 34. 07 38. 50
1687 07010130 |5 ik 400X 400 m2 64. 60 73. 00
1688| 07010170 |# i k% 800X 800 m2 83. 19 94. 00
1689 07010180 |# )5 [Hif& 1000 X 1000 m2 | 107.96 122. 00
1690| 07010200 |&ELRE (5 4E) 200X 70 He 3. 36 3. 80
1691] 07010210 [ZEHELLRE (71 4%) 200X 90 He 4. 69 5. 30
1692 07030010 |B%Bys% 150 X 150 X 13 m2 88. 50 100. 00
1693| 07030050 |k% k% 45X 95 m2 52. 21 59. 00
1694| 07050020 |Bkikrik 800 X 800 m2 101. 77 115. 00
1695| 07050030 |¥kikik 1000 1000 m2 112. 39 127. 00
1696 07050050 | 5 i [ i 300X 150 m2 38. 94 44. 00
1697| 07050120 |Bhigsk 300X 300 m2 46. 02 52. 00
1698| 07050130 |Bhigw% 400 X 400 m2 46. 02 52. 00
1699| 07050180 |HLREPTHE 5% 65X 150 He 1.55 1.75
1700 07070001 |Pa&knnt Afh m2 64. 60 73. 00
1701| 07070010 |W&kant Pl m2 69. 91 79. 00
1702 07210030 [#JEHR 3, M iE m2 39. 82 45. 00
1703| 07250020 |%5-& 40 sh AR 500X 500X 30 m2 | 205.31 232. 00
1704| 07290010 |fbFHiEs m2 36. 28 41. 00
1705| 07290040 |¥8 s m2 46. 02 52. 00
1706] 07330001 |47 A4 HR £ %% 100X 100 N 2. 30 2. 60
1707 08010140 | By KF AR 155 m2 | 210.62 238. 00
1708 08030001 |4£ %+ m2 62. 83 71. 00
1709] 08030010 |1Eid % R m2 55. 75 63. 00
1710] 08030080 |EE:1E i AR SE it m2 | 100.88 114. 00
1711] 08030090 |[BE64E i Adi 10)5 m2 84. 07 95. 00
1712] 08030100 |EE:1E i AR 155 m2 89. 38 101. 00
1713| 08030110 |BEYGAE i Ak 20)5 m2 93. 81 106. 00
1714] 08030120 |EE:AE i AR 255 m2 | 147.79 167. 00
1715) 08030130 |BEYEAE i Ak 405 m2 | 116.81 132. 00
1716] 08030140 |EE:AE i AR 60J5 m2 | 158.41 179. 00
1717 08030150 |BEYEAE i Ak 1505 m2 | 367.26 415. 00
1718] 08030250 |1t i< & ik A4 B m3 6195 7000

1719] 08030270 |4t i b 900 X 380X 150 m 46. 90 53. 00
1720| 08030320 |HLEIA4E K% K:3. 5mPA N m3 2336 2640

1721] 08030330 |[WLEIAT XA K:5mPA Y m3 3504 3960




1722 08030340 |WLEIAAE K K:-5mbl | m3 5257 5940
1723| 08030350 | 4% () 7 fiE B 40)5 m2 89. 38 101. 00
1724 08030360 |4 (i 2+ HEH 605 m2 | 125.66 142. 00
1725| 08030370 |1¢ i< 7 mEdh 150)% m2 | 286.73 324. 00
1726| 08050001 |74 HufEkR 490 X 490 X 40 e 15. 93 18. 00
1727] 08050010 |7 43 HuTfiAR 490 X 490 X 60 Hh 21.06 23. 80
1728| 08050020 |74 HuiEkR 490 X 490 X 80 H 26. 11 29. 50
1729] 08050030 |4 HiiHR 490 X 490 X 100 R 31.42 35. 50
1730| 08050040 |74 HufEkR 490 X 490X 120 e 36. 73 41. 50
1731 08070001 |#i4 t 314. 16 355. 00
1732] 08070040 |~4bA m2 73. 45 83. 00
1733) 08090001 | IM1y"™ 4K bk A B m2 23.01 26. 00
1734| 08110050 |# AR 180X 110X 20 e 2.61 2.95
1735 08110060 |%% A 4K 180X 110X 30 He 3. 65 4.12
1736| 08110080 | AR 300X 200X 20 e 6. 24 7.05
1737 08110090 |45 AR 300X 200X 30 He 9. 38 10. 60
1738| 08170020 |9H4: 1100 e 72. 57 82. 00
1739] 08170030 [#HAE 1200 it 83. 19 94. 00
1740| 08170040 |9H4E 11300 e 92. 92 105. 00
1741 08170060 |44 B9 J; i m2 | 230.09 260. 00
1742 08190001 | RARA M i R AR A HE m2 57. 52 65. 00
1743 08190010 | RARAT M M I iR PEAE m2 575 650
1744| 09000010 [P K FE#R m2 40. 71 46. 00
1745) 09010030 |41 A Bk 9)£ m2 12. 39 14. 00
1746 09010040 |21 A B 1220 X 2440X 9 m2 12. 39 14. 00
1747] 09010050 |4 47 B B 1 )= m2 20. 62 23. 30
1748| 09030020 |ZTREA bR m2 68. 14 77.00
1749] 09030030 [#hiA J2tk 12)5 m2 56. 64 64. 00
1750] 09030040 |kEZEHIAR A 600-900X 90X 18 AikAh | m2 | 313.27 354. 00
1751| 09030080 | 54K m2 72. 57 82. 00
1752 09050030 |4 )& # AR % m2 46. 02 52. 00
1753] 09050040 |4 )@ % EaAL m2 48. 67 55. 00
1754 09050100 [454& 44 15 m2 41. 15 46. 50
1755| 09050140 |%5-&4idmgst m2 71. 68 81. 00
1756 09050160 |45-& 430K m2 69. 91 79. 00
1757 09050170 |[%5-&4F0HR &M m2 82. 30 93. 00
1758| 09050190 |48304R 300X 300 m2 82. 30 93. 00
1759] 09050220 |45 &G4 m2 97. 35 110. 00
1760 09090030 [PVCHIHR m2 29. 20 33. 00
1761] 09110010 [P kAR 15 m2 30. 97 35. 00
1762 09150010 |GRCHHiH m2 133. 63 151. 00
1763 09190010 |FERRESHR 6% m2 18. 14 20. 50
1764 09190020 |FEEZES AR 8JE m2 20. 80 23. 50
1765 09190030 |FEER%S5HR 10)5 m2 23. 45 26. 50
1766 09190040 |k EZES AR 1220 X 2440 X 10 m2 23. 45 26. 50
1767 09230040 | &%) m2 9.29 10. 50
1768 09250001 |F4N etk 505 m2 28. 76 32. 50
1769 09250010 [FA4N I 854 755 m2 83. 19 94. 00
1770 09250020 |F4NJe itk 1005 m2 93. 81 106. 00
1771] 09250030 |HX22 (L5 I Z ik A 8 50 m2 43. 36 49. 00
1772 09250040 |4M 22 AR 52K 20 1K A 6 80 m2 52. 21 59. 00
1773 09250050 |HX22 LTI Z 03K A 8 100 m2 61.95 70. 00
1774] 09250060 |ToAtE &tk 90mm m2 | 150. 44 170. 00
1775) 09250070 |4W 22 % 2 0l i FN-K m2 77. 88 88. 00




1776 09250080 |4 /KIEZER S B 6 60 m2 72.57 82. 00
1777( 09250090 |B /KB ER S B UG 6 85 m2 88. 50 100. 00
1778 09250100 |BE /KB ER AR 6 95 m2 99. 12 112. 00
1779] 09310001 |& R4 7K 3. 62 4. 09
1780 09330040 |HE 42 %845 7900 m 6. 19 7. 00
1781 09330050 |#2 %845 m 4. 42 5. 00
1782 09330060 |3 AT m2 12. 39 14. 00
1783 09350001 |4li% § 0. 04 kg 84. 07 95. 00
1784 09350010 |4f$E 100X 100 5K 0. 38 0.43
1785| 09350020 |54 m2 4. 87 5. 50
1786 09370001 |44 100X 100X 4. 5 m2 53. 10 60. 00
1787| 09370010 [£54& 4 125X 125X4.5 m2 62. 83 71.00
1788 09370020 |454& 4 150X 150X 5 m2 48. 67 55. 00
1789] 09370030 |#5&4k& A m2 22. 57 25. 50
1790] 09370050 |ELZMEE S ({1260 X60X126 m2 45. 13 51. 00
1791 09370060 | i A A it 100X 100 X 55 m2 | 115.04 130. 00
1792 09370070 |55 AKE At 150X 150X 80 m2 109. 73 124. 00
1793| 09370080 | i i A A% it 200X 200X 100 m2 | 104. 42 118. 00
1794 09370090 |55 AKE A 250 X 250 X 120 m2 93. 81 106. 00
1795] 09370100 |45 7538 ] 100 m2 113.27 128. 00
1796 09370110 |48)7i@ B8] 150 m2 71. 68 81. 00
1797] 09370120 |55 7538 [E] 200 m2 61. 06 69. 00
1798| 09370130 |E5& 4+ i 267 8] #E 100 m2 92. 92 105. 00
1799] 09370140 |45& 44 467 ] 200 m2 46. 02 52. 00
1800 09370150 |Z & &S MM m2 72.57 82. 00
1801] 09370160 |%H& 4+ A 5 8] #E200 m2 59. 29 67. 00
1802| 09370170 |%#5&4 A1 & N[ 309. 73 350. 00
1803| 09390010 |84 ke m2 575 650
1804 09390020 | 434131k 75 [ Hir m2 | 331.86 375. 00
1805| 09390030 |¥84N 43k 7k ki m2 500 565
1806| 10010001 |[il1fe& 22X 22 m 3. 10 3. 50
1807| 10010010 | et 25X 24 m 3. 54 4. 00
1808] 10010030 |B¥4ERAN Ao E 38R m 6. 02 6. 80
1809| 10010040 |E-&F THIZ5X 32 m 4. 25 4. 80
1810] 10010050 |%&40 Jv& HAL 20X 20 m 3.81 4. 30
1811 10010070 |8 E (A LARD  |PFH300 X300 m2 35. 84 40. 50
1812 10010080 |HMH (A LA ST 450 X 450 m2 30. 53 34. 50
1813 10010090 |8 & (A LA 11600 X 600 m2 24. 34 27.50
1814 10010100 |8 E (A LA SETRI600 X 600 L) 1 m2 22. 57 25. 50
1815[ 10010110 |8 kE (A LA 25300 X 300 m2 42.92 48. 50
1816[ 10010120 |HMkE (A LA 2450 X 450 m2 36. 73 41. 50
1817[ 10010130 |&H8kE (A LA 245600 X 600 m2 24. 34 27. 50
1818 10010140 |HMH (A LA 225600 X 6001 | m2 29. 65 33. 50
1819 10010150 |BH8E (A LA [ IR m2 35. 84 40. 50
1820( 10010160 |#80 e (LA ~F-1H1 300 X 300 m2 38. 94 44. 00
1821 10010170 |#8eH (AR FTR1450 X 450 m2 33. 63 38. 00
1822 10010180 |8 e (L AHRD) ~F-1H1600 X 600 m2 26. 55 30. 00
1823 10010190 |#4M feE ([ AL ~FRI600 X 600 L) | m2 24. 34 27. 50
1824 10010200 |#80 e (L AR 22300 X 300 m2 27.43 31. 00
1825( 10010220 |#8H (AR 245600 X 600 m2 31. 86 36. 00
1826( 10010230 |#80eH (L AR k22600 X 600LL m2 28. 76 32. 50
1827( 10010240 |#8H (AR (5] I m2 45.13 51. 00
1828 10010250 %240 & Jf 75X 50 m 5.13 5. 80
1829] 10010260 |%40 K v H 75X 40 m 4. 96 5. 60




1830] 10010270 |4 g UR 38X 12X 1 m 5. 66 6. 40
1831 10010290 |%&4NF /N oE m 2.57 2.90
1832 10010340 |#EEEAN IEH kg 5. 84 6. 60
1833 10020001 |4EEEUR g 3000mm m 13. 27 15. 00
1834| 10030030 |#5&4E 60 X 30 m 4. 96 5. 60
1835[ 10030040 |#&& s (M EAAY) PP 300X300 m2 30. 97 35. 00
1836 10030050 |#&& s A EAAY) [PEHE 450X450 m2 26. 55 30. 00
1837 10030060 |#5&& s (A EARY) PP 600X 600 m2 20. 53 23. 20
1838] 10030070 [fi&&H A LAA) [FFH 600X600L4 1 m2 19. 47 22. 00
1839 10030080 |#a&& e (N EAAY) [BEZ: 300X300 m2 37. 17 42. 00
1840( 10030090 |#&& s A EAAY) [k 450 X450 m2 34. 07 38. 50
1841 10030100 |#5&& s (M EAAY) [BEZ: 600X 600 m2 26. 55 30. 00
1842| 10030110 [f5&&H (A LAR) [BZ 600X 60004 1 m2 26. 55 30. 00
1843[ 10030120 |#a&&ed (EAT) I 300X 300 m2 34. 07 38. 50
1844| 10030130 |[#&4 v (B AAY) SETH] 450 X 450 m2 28. 76 32. 50
1845| 10030140 [#5&4 e (B AR 1 600X 600 m2 22.57 25. 50
1846] 10030150 |[#5&4 v (B AAY) SET 600X 60084 F m2 20. 53 23. 20
1847] 10030160 [#5&4 e (B AT P2k 300X 300 m2 38. 94 44. 00
1848| 10030170 |#5&4 v (B AAY) P2l 450 X 450 m2 35. 40 40. 00
1849] 10030190 [#5&4 e (B AR P2k 600X 60004 I m2 20. 53 23. 20
1850| 10030250 |#5& & iR R s CAHRA L 500 X500 m2 23.01 26. 00
1851 10030260 |#a& @itk s (A AL 600 X600 m2 19.91 22. 50
1852] 10030270 |G &Rk s (A A 600X 60004 | m2 15. 66 17. 70
1853 10030280 |#a& & iR a (A=l 500 X500 m2 29. 20 33. 00
1854| 10030290 |f5& &tk s (A=l 600X 600 m2 26. 11 29. 50
1855[ 10030300 |#5&& iR iEE (A 600X 600LA 1 m2 19.91 22.50
1856| 10030310 |G &tk R eE (A 500 X500 m2 23.01 26. 00
1857] 10030320 |fa& & itk (Al 600 X600 m2 20. 80 23. 50
1858| 10030330 |#5& &t R i s CHHRA L 600X 60004 | m2 15. 66 17.70
1859 10030340 |f5&& oM (HEFHE= 500 X500 m2 30. 09 34. 00
1860| 10030350 |#5& & iR s (= 600 X600 m2 26. 99 30. 50
1861 10030360 |55 iR E (= 600X 6000k 1 m2 20. 80 23. 50
1862 10030370 |fa& &t Riliks | JeEaEEL00 m2 14. 07 15. 90
1863 10030380 |f5&&tsh AR E  [JeEEE150 m2 13. 54 15. 30
1864| 10030400 |#5& &AM s A m2 14. 07 15. 90
1865| 10130001 |FAT = 6. 19 7.00
1866| 10130040 |34t PD25 N 3. 10 3. 50
1867 10130050 |34t PD80 A 3.63 4. 10
1868 10130060 |4 4ELAY Rt 180X 30X 2.5 1=40 A 3. 32 3.75
1869 10130090 |F8M v & 1 & et A 1. 04 1.18
1870 10130100 |%4N o ERelt A A 0.73 0.82
1871| 10130120 |95ErfEAI FAY Bl 6=3 A 4. 42 5. 00
1872 10130130 |44y ARl i) fi X 8 =3 A 6.19 7. 00
1873 10130140 |4EEEURI il 50X 76. 6X50X 1. 8mm m 91. 15 103. 00
1874 10150130 |#8& &R TR+ JeH 500 X 500 m2 20. 53 23.20
1875[ 10150140 |8 & &M _H e E]600 X 600 m2 18. 58 21. 00
1876 10150150 |a& B R e H 600X 600LA 1 m2 15. 49 17. 50
1877 10150170 |48&4 = RlH:AE 60X 60X 5. 5mm A 4.16 4.70
1878] 10170050 |BX4% I BT 250 Z241 £ | 166.37 188. 00
1879| 10170060 [Z%4:/T XN 250 &5 £ | 249.56 282. 00
1880] 10170070 |BZ4% K JYJI 250 &%) £ | 407.08 460. 00
1881| 11000001 |[Bh#E17] m2 584 660

1882 11010250 |H A k1] oA S, MR | m2 | 362.83 410. 00
1883 11010430 |pibAT] s SER m2 912 1030




1884| 11010440 [p AT 55 8E& m2 814 920
1885 11010450 | iA | THE m 46. 02 52. 00
1886] 11010460 | hit B0+~ BEA T % 151200 X 2100 (SEA) Fi 2743 3100
1887| 11010470 ﬁJz %iﬁ%lﬂtl]&liﬁuooxmo (EE) fe | 3628 4100
1888| 11010480 BBV BATFAR T T % 1 TH900X 2100 (SEA) i 2478 2800
1889 11010490 ﬁJz %iﬁﬁﬁﬂtl]&l]ﬁ%oleoo (BE) Fit 2018 2280
1890 11010500 3BT ] % 1 T8 1500 X 2400 (SZA) Fi 4779 5400
1891] 11010510 ﬁJz %tﬁxxﬁﬂn]&ﬂ@woox%oo (&) Fit 3274 3700
1892 11010520 |fkib AR )& J& T 58 250 m 100. 00 113. 00
1893] 11010530 [pl A 7] % JE T 5 & 300 m 108. 85 123. 00
1894] 11010540 |ifhA )i & J& T %8 200 m 100. 00 113. 00
1895 11010550 | i A Jifi T 5 J&TF % £ 300 m 127. 43 144. 00
1896 11010560 | =i AFE T T &% T 14800 X 2000 (4 55 1168 1320
1897| 11010570 |7&Hh =R A 11 /%1 14800 X 2000 (&) )25} 1168 1320
1898 11050020 |[FfHE m 46. 02 52. 00
1899| 11050030 [E4MRI] m2 | 269.91 305. 00
1900 11070010 | ANEHEENES 5 k5l T m2 | 225.66 255. 00
1901| 11090010 544 3Esh/M ] 500X 1500 A | 225.66 255. 00
1902 11110001 |[¥B4H-F-TF1] m2 | 349.56 395. 00
1903 11110020 |¥B4NHES [T m2 | 207.96 235. 00
1904 11110030 |¥B4N[E & & m2 166. 37 188. 00
1905| 11110040 |¥E4W P& m2 | 314.16 355. 00
1906| 11110050 |¥B4HfH & m2 | 199.12 225. 00
1907( 11110060 [MEHNFIF K2 & m2 | 314.16 355. 00
1908 11170050 |{EHikl] HALFR m2 | 402.65 455. 00
1909] 11170090 |71 714R 5 %2 t 5841 6600
1910] 11170100 [FEd 114915 42 t 5841 6600
1911 11170110 |17 HiAs kL m3 1611 1820
1912 11170120 |[BI4MBA 5 k& A B m2 | 179.65 203. 00
1913 11170130 |#¥%¥Ekez ikt 2.0X 15 m2 13. 45 15. 20
1914 11170140 |f5iR17] m2 76. 11 86. 00
1915| 11170150 [F&517) m2 761 860
1916] 11170160 |B55£k1] m2 2681 3030
1917] 11170170 |V yla) s m2 | 305.31 345. 00
1918| 11170180 [y =] m2 584 660
1919] 11190001 [ANEEEA B 45 1] m 628 710
1920 11190010 |F—FIEER [HE]] = 10619 12000
1921 11210001 |#5&&HHEHi20] m2 99. 12 112. 00
1922 11210010 |85 4 FH2P] m2 161. 06 182. 00
1923 11210050 |45 &4 Ehi &) & m2 80. 53 91. 00
1924| 11210060 |55 4 FH 2> % Fe m2 125. 66 142. 00
1925| 11210070 |fH& & ka2 & m2 143. 36 162. 00
1926| 11210080 |¥B4WERH 2D s m2 134. 51 152. 00
1927] 11210090 [3F44H7 20 & m2 89. 38 101. 00
1928 11210100 |¥B4N~FIF20 % Fa m2 | 161.06 182. 00
1929 11230270 |41 m2 | 269.91 305. 00
1930 11250001 [ ANEFEAFIMRERT ] m2 | 276.11 312. 00
1931 11250030 %E. Eogeaiell ZiA S m2 | 252.21 285. 00
1932 11250060 | AN A1) m2 | 252.21 285. 00
1933| 11250070 %F%%Hm@‘?k%ﬁ%r] m2 | 296.46 335. 00
1934 11370001 |FEEIABINITHZIEEE E 1168 1320
1935[ 11370010 |73 HE)HE = 1080 1220
1936 12010001 |2 [ AZ: 20 m 2. 56 2.90
1937 12010010 |*f[RIAZ: 40 m 7.68 8. 68




1938 12010020 |f[RIAZL 60 m 16. 59 18. 75
1939 12010200 |A % 30X 10 m 3.87 4. 38
1940| 12010210 |KJE% 40X 15 m 7.12 8. 05
1941 12010380 |APBHf2k% 25X 25 m 6. 07 6. 86
1942| 12010390 |[APH A Z% 50 X 50 m 14. 60 16. 50
1943| 12010400 |APH ffi %k 4% 80X 80 m 18. 08 20. 43
1944| 12010410 |[APHAZ% 100X 100 m 24. 93 28. 18
1945| 12010420 [ABH %k % 12X 12 m 1.97 2.23
1946| 12010430 |APH 24 50 X 50 m 9. 65 10. 90
1947 12010440 |MEABH fa 2k 2% m 5. 02 5. 67
1948| 12010460 |BEAZE % 25X 5 m 5.07 5.73
1949 12010470 | A5 % 100 m2 54.51 61. 60
1950 12010490 |8 A 15 B2 & m 15. 11 17.07
1951| 12010500 [#F A 55 1 26 120X 15 m2 125. 87 142. 23
1952 12010510 |ATH ffi 2k 2% 25X 25 m 6. 19 7. 00
1953] 12010520 | AT £ 48 % 50X 50 m 11. 50 13. 00
1954] 12010530 | AT 454 70X 28 m 17.70 20. 00
1955| 12010540 |ATvi ffi £k 2% 100 X 35 m 22. 12 25. 00
1956 12010560 |AJRZ 50 m 17.70 20. 00
1957| 12010570 [AHRZ: 50X 20 m 22.12 25. 00
1958| 12010580 |Ack}ih% 10X 20 m 3. 98 4. 50
1959] 12010590 | A i 35 i 4% 2% 20X 5 m 2.21 2. 50
1960] 12010610 AP [ 2 12k 2% 25X 10 m 4. 42 5. 00
1961 12010620 |A 1B 12k 4% 25X 13 m 5.31 6. 00
1962] 12010630 AP [ 2 1 2k 2% 30X 10 m 7.52 8. 50
1963] 12010640 [ ATt 1 2k 4% 50X 10 m 8. 85 10. 00
1964| 12010650 AP [ 2 1 2k 2% 100X 20 m 17.70 20. 00
1965) 12010660 |A -1 12k 4% 150 X 20 m 22.12 25. 00
1966] 12010670 | A1 5 12k 4% 200 X 20 m 24. 78 28. 00
1967 12010680 |f i A% 1000 100 X 50 m2 | 214.60 242. 50
1968 12030240 |44 L7 30X 12X1.0 m 3.47 3.93
1969 12030250 |454&4 U 80X 13X 1.2 m 4.31 4. 87
1970 12030270 |44 4kt 52 m 7.08 8.01
1971] 12030280 |%5-&4:Hli4k 50 m 7.16 8. 09
1972 12030290 |45 &4xttisk 75 m 7.65 8. 65
1973| 12030300 |%5-&4:Hl4k %100 m 10. 61 11.99
1974 12030310 |44 4tk 20X 12X 1.0 m 4. 26 4. 81
1975| 12030360 |f5&4 4k m 4.22 4.77
1976 12030370 &4k 20X 20X 1.5 m 5. 82 6. 58
1977] 12030390 |55& 4 a2k 150 X 50X 1 m 8. 66 9.79
1978 12030400 |44 Uins m 2. 46 2.78
1979| 12030430 |f5&4)E% A m 2. 50 2.82
1980| 12030440 |fE&4 k% THY m 6. 19 6. 99
1981 12030450 |4B&4&IE% 16X1.5 m 1. 80 2.03
1982| 12030460 |[fH&4)E% 30X3 m 4. 49 5. 08
1983| 12030470 |45iE 4% 1A 530 m 18. 99 21. 46
1984 12030500 |4 %% 2X 15 m 6. 67 7.54
1985 12030510 |44 3% 20 m 9.24 10. 44
1986 12030520 | AN4E40 2k 20X 20X 1.0 m 10. 58 11.96
1987 12030530 | AN4H40 £k 50X50X 1.0 m 24. 12 27. 26
1988| 12030540 |[ANEE4N 2k 75X 75X 1.0 m 36. 32 41. 05
1989| 12030550 | ANiBANEELZL 20X 20X 20X 1.0 m 15. 10 17. 06
1990 12030560 |A4Fa0HE 2 50X 50X 50X 1. 0 m 36. 32 41. 05
1991 12030570 |45&4 ik 1200X 100 m 20. 53 23. 20




1992 12030580 |44 % 6X 110 m 28. 67 32. 40
1993 12030590 |45 & AR m 35.93 40. 60
1994| 12050140 |BE¥Av i 2k 2% H£:200X 20 m 38. 64 43. 66
1995( 13010001 | F0%E kg 10. 81 12. 21
1996 13010010 |JSoGifANIE kg 10. 93 12. 35
1997 13010020 | A )R & kg 17. 82 20. 14
1998| 13010030 |FH & kg 11.01 12. 44
1999| 13010040 |EEHER A kg 12. 96 14. 65
2000 13010050 |BEREREEE kg 14. 19 16. 03
2001 | 13010060 | E: W6 C04-2 kg 14. 44 16. 32
2002 13010070 |EER&ISE kg 12. 24 13. 83
2003| 13010080 |MEME&iH FO1-1 kg 12.71 14. 36
2004| 13010100 |iF45JEE kg 13. 84 15. 64
2005| 13010110 |51 A B ML FH 21 kg 23. 76 26. 85
2006] 13010120 |3 R BEhL el kg 23. 76 26. 85
2007 13010130 |5 14 5 = G kg 13.95 15. 76
2008| 13010140 |MyfE kg 11.54 13. 04
2009 13010150 |Myismiiz kg 15. 34 17. 33
2010| 13010160 |MysiEFE kg 11.97 13.53
2011| 13010170 |Myiseris kg 11.31 12. 78
2012| 13010180 |y s i 128 kg 14. 53 16. 42
2013 13010190 |Myfsis i kg 13.98 15. 80
2014| 13010200 |MyEEm) g kg 12.91 14. 59
2015| 13010220 |¥4E MG kg 21.35 24. 13
2016| 13010230 [HEPE =EERKE kg 16. 15 18. 25
2017| 13010240 [R&EHEZE kg 11.70 13. 22
2018| 13010250 |MEEHSES kg 10. 23 11. 56
2019| 13010260 |IREIEHEEZE kg 11.27 12. 74
2020( 13010270 |EREVEEHLE kg 19. 18 21. 67
2021| 13010280 |[BEFEsKZE kg 16. 61 18. 77
2022| 13010290 [FEFEEIFE G kg 18. 98 21.45
2023| 13010300 |REESER kg 18. 34 20. 72
2024| 13010320 |45 kg 18. 89 21.35
2025| 13010330 |HAE&IEE kg 20. 90 23. 62
2026| 13010350 |BEfb)iciE kg 18. 14 20. 50
2027| 13010360 |BEfk)EE X06-1 kg 18. 14 20. 50
2028| 13010370 |WiFiHE kg 10. 91 12. 33
2029| 13010390 |Hik:iitia L01-17 kg 10. 44 11. 80
2030 13010400 KAWL & L01-17 kg 10. 44 11. 80
2031| 13010410 |migE kg 12. 24 13. 83
2032| 13010420 |BEmy# g kg 14. 15 15. 99
2033| 13010470 [TOM i) kg 18.90 21.36
2034 13010480 |TOM g TH & kg 18.90 21. 36
2035| 13010490 |m4FLiEE kg 14. 95 16. 89
2036] 13010500 |AHEFE i A H kg 14. 95 16. 89
2037 13010510 |} kg 25. 27 28. 56
2038| 13010520 |HUREH kg 25. 27 28. 56
2039| 13010530 |[yHK kg 11.20 12. 66
2040| 13010540 |¥Rjh kg 13. 46 15. 21
2041 13010550 |BEMEEiE AN %t kg 10. 81 12.21
2042| 13010560 |FEFERE A1 H kg 10. 81 12.21
2043| 13010570 |4 § B % kg 22. 64 25. 58
2044 | 13010580 | 2% F: i i MFE-2 kg 18. 69 21.12
2045] 13010590 |TOM} R kg 18. 90 21. 36




2046| 13010600 |FI# kg 10. 26 11.59
2047| 13010610 |yHiEE kg 13. 38 15. 12
2048| 13010620 |ZEfiEEEE kg 16. 97 19. 18
2049 13010630 |ERE (1% kg 19. 94 22.53
2050| 13010640 [P4 )k 58 2 iR )R iR kg 15. 52 17. 54
2051| 13010650 |75 %% R 58 2 g Hh a) kg 14. 72 16. 63
2052] 13010660 |FEFER TS A kg 11. 14 12. 59
2053| 13010670 [P 5% FLIR B EZE kg 7.79 8. 80
2054| 13010671 |~k FH 7L Vs s kg 10. 93 12. 35
2055) 13030030 |P9)GE R ikl kg 11.13 12. 58
2056 13030040 |{5# 5kl kg 26. 11 29. 50
2057| 13030060 |id & 2 @G G52-1 kg 17. 74 20. 05
2058| 13030070 [ & AIFRE kg 13. 42 15. 16
2059] 13030080 |id & 20 G06-4 kg 13. 63 15. 40
2060| 13030090 |it& 2 M1 kg 16. 00 18. 08
2061] 13030100 |id& 2 JETEE kg 18. 53 20. 94
2062| 13030110 [iI&S 2 IEIEE G52-2 kg 19. 00 21. 47
2063| 13030120 |id& 20 ) kg 15. 82 17. 88
2064| 13030130 [RERREERE kg 18.93 21.39
2065 13030140 | ELRIAE} m3 | 307.96 348. 00
2066| 13030150 |H87i4k} kg 21.41 24. 19
2067 13030160 |/E#& kg 11. 64 13. 15
2068| 13030200 | &R kg 25. 27 28. 56
2069| 13030210 |RAME kg 18. 27 20. 65
2070| 13030220 |ZEEHEH R kg 19. 70 22. 26
2071 13030230 |ZZ &K kg 19. 70 22. 26
2072| 13030240 |GG 2GR kg 16. 09 18. 18
2073| 13030250 |ShiEAk T8 20 A kg 15. 42 17. 42
2074] 13030260 |SUREAL T 208 b la) A kg 15. 75 17. 80
2075| 13030270 |GAEAY T8 205 A kg 16. 15 18. 25
2076 13030280 | iN R kg 11.78 13. 31
2077| 13030290 |5 kg 7.26 8. 20
2078| 13030300 |7k KB kg 7. 49 8. 46
2079] 13030310 |PES/KIBERE kg 7.16 8. 09
2080| 13030330 [#ME% /K Ve i3 A kg 13.50 15. 26
2081| 13030360 |FLKE kg 7. 49 8. 46
2082 13030370 |FLALGEl kg 9.58 10. 82
2083| 13030380 |#bigkl kg 15. 72 17.76
2084| 13030390 [¥EELIR 2 ) kg 8. 32 9. 40
2085| 13030460 |#Zdiakl m3 | 398.23 450. 00
2086| 13030470 |+ EEEl kg 6.97 7. 88
2087| 13030480 | ¥ kg 2.30 2. 60
2088| 13030500 |#hE%H 74 kg 3. 63 4.10
2089| 13030520 |¥ET kg 8.98 10. 15
2090] 13030530 |id& 24T kg 7.90 8.93
2091| 13030540 |BRAEHT kg 8.53 9. 64
2092| 13030590 |AlFE:MT kg 10. 50 11. 87
2093| 13030600 |4 E )RR G ) kg 23.91 27. 02
2094] 13030610 |¥F%E IR kg 21.56 24. 36
2095| 13030620 |PREHWITH R kg 19. 12 21. 60
2096] 13030630 |2 IBEHPERE kg 19. 50 22. 04
2097| 13030640 [MEZEHITRCFIE |[SHE kg 23. 67 26. 75
2098| 13030650 |FiEHIE BT kg 28. 74 32. 48
2099 13030660 |E A& kg 5.71 6. 45




2100| 13030670 |E A& kg 16. 41 18. 54
2101| 13030680 [Py %% FH FL A i 14 kg 7.39 8. 35
2102 13030690 | &k FH 7L e 2 1 3 kg 15. 42 17. 43
2103| 13030700 |8 )ZiEEHE i 4 kg 5. 96 6. 73
2104| 13030710 |7k i ik T 2 R Pt kg 10. 64 12. 02
2105) 13030720 |/KPEA1E] (Z) ik} kg 9. 60 10. 85
2106| 13030730 |ZKMEHEE i kg 9. 87 11. 15
2107| 13030740 |ZHEiGE kg 17. 04 19. 25
2108| 13030750 [Z®Fikkl kg 17. 04 19. 25
2109 13030760 |ZEmH &k kg 17. 74 20. 05
2110| 13030770 |TtEm A IGEIR NS IS kg 17. 57 19. 85
2111] 13030820 |¥F4EEEH K} kg 16. 42 18. 56
2112] 13030830 |PFAJEKE LK kg 18. 48 20. 88
2113| 13030840 |JEigk} kg 6. 07 6. 86
2114| 13050001 [Py kgkl kg 15. 09 17. 05
2115 13050020 |Bjj kigkl AGO-1 kg 15. 09 17. 05
2116| 13050050 | JH 12134 kg 15. 56 17. 58
2117| 13050060 |BlihE C53-1 kg 8.73 9. 86
2118| 13050070 |Bi4hiE AR kg 10. 73 12. 13
2119) 13050080 |34 %[5 ANRS kg 15. 73 17.78
2120| 13050090 |MEEERT451E kg 7.61 8. 60
2121 13050100 |FEFRP;THEEE C53-1 kg 8.21 9. 28
2122 13050110 |MyEERTEEEE kg 8. 42 9.52
2123| 13050120 |FEMRBHHAEEEHRE kg 8.92 10. 08
2124 13050130 |MEWTHHiE kg 9.55 10. 79
2125| 13050170 |EHRE kg 17.52 19. 80
2126| 13050180 |HFL-17% i} i B i o JEE i kg 22.94 25. 92
2127 13050190 |HFL-1 7 fiif vt 5 i Hi, ] i kg 22. 94 25.92
2128| 13050200 |4 B PR kg 19. 80 22.37
2129 13050220 | #4455 kg 16. 81 19. 00
2130| 13050230 |ffif K& kg 17.81 20. 13
2131] 13050240 |Erfhigkl NSJ- 11 kg 18. 29 20. 67
2132| 13050250 |4FFhB;JE kL NSJ kg 18. 29 20. 67
2133 13050260 |/KMERT Gk kg 15. 42 17. 43
2134 13050270 |4 H1Ak i #ug W61-25 kg 26. 40 29. 83
2135| 13050320 |/KjH kg 7.01 7.92
2136| 13050330 |H8701¥k} kg 15. 56 17. 58
2137| 13050340 |GG S AL kg 9. 88 11. 17
2138] 13050350 |SALIGIEE K JE 2K B # kg 15. 56 17. 58
2139( 13050360 |FALIGHIER AL E K A kg 15. 02 16. 97
2140| 13050370 [FAAGIL =8k 5 )i kg 15. 47 17. 48
2141| 13050380 |SALIEIR z= 8k Al kg 15. 12 17.08
2142| 13050390 | FRAE kg 15. 98 18. 06
2143| 13050400 |F-HiEE kg 17.31 19. 56
2144| 13050420 [AEMEMEABEGE kg 9.43 10. 66
2145 13050430 |8257A 1 BRI kg 18. 57 20. 98
2146| 13050440 (82675 1%E I kg 19. 26 21.76
2147| 13050450 |VCI396]H & kg 16. 08 18. 17
2148| 13050460 |VCI396JiKEE kg 18. 27 20. 64
2149| 13070001 |HhkRiZE kg 14. 44 16. 32
2150| 13070060 |FHFEERIE kg 15. 57 17. 59
2151| 13070100 |40 kg 27.26 30. 80
2152| 13070110 |ZEMF&iE IR 1 kg 18. 10 20. 45
2153| 13090010 | A% 4 )& % kg 57. 37 64. 83




